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AT® &% &1 15 f&Ai # qeon B 20 feHf
T #1 9Fa1 21 4% 2 4 2 9F wF 9y
M B Al 9 FH F A e
=1 g 87

(@) 1t b) 15
© 7 A 15

A can cultivate ¢ th of \ﬁ 1andf
in 6 days and B ca% culti‘vate

—rd of the sargp‘e land in 10
days. Worklnggtqg@ther A and B

\1\

can C'LIlthf!té‘ ,th of the land in;

AQE?EI'I#IEFIE 9 6 fa i F 3 B

\_rl'lﬂ’r[?ﬂ% g 10 &9 § S| g

Z1A 3B TH WY FH F % e
wHA F e fml § S

(a) 4 days (b) 5 days

(c) 8 days (d) 10 days

896 |

“{f?«. ;

of work 1n ‘ﬁﬁ_‘%ﬁd 12 days re-
spectively, Werking together,
they will Gomplete the same
Wofkyﬁiﬂz

A;Rwa C UF &M F1 HEA: 24, 6 71
(9l # 3 TR § T W W FE

i“.fj;;éﬁm FW F R ﬁﬁi 4w F

6.

@) ; day  (b) 5 day

(c) 37 days (d) 4 days

A and B can do a piece of work
in 12 days. B and C in 15 days
and C and A in 20 days. If A | B
and C work together, they will
complete the work in :

A @it B fwdt ®m # 12 Al § w2
FFd €1 B 3l C 3 ®m # 15
F F Tk €1 e C 3 A I FH A
20 f&f # Fx wHa &) Ak AB @en C
TF WY =9 FLA 9w a9 o =m
TH FL?
(a) 5 days (b) 7% days

(c) 10 days  (d) 15% days
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YEAR: 1999 4. A czn finis]::l a piecedof t}a.lrork in A and B can do a piece of work
. . 18 days and B can do the same in 72 days, B anid C can do it 1n
A d f k in 6 4 : ’ < :
da;.zx; ndoBai ;};e(:lzyz gz; mlzny work in half of the time taken 120 days andAvand C can do it
day; will both ta_kt; ‘together to by 3. Then worising together n 90 day%z _how many days
complete the work ? what part of the same work all thre‘ewto,gether can do the
A p S ’ T they can finish in a day? wol;k'-’"‘
TH FH T 5 e _ . 25
= 3 o N ATF ®m # 18 il § wew wwan € \AaﬁzB‘q&mmmﬁmﬂmm
mﬁfﬂ’lﬂ@mﬁ? B 3#l ®W # AW ol T W & ‘%’\BaﬂCmmmIQOﬁmqaﬂ
75 d b;54d e we F e v 8 W Ogay ¥ qen A v © 6w A 90
()7n g (PRl mmaaﬁ@ﬁ?ﬂmwﬁﬂ fedi F 2 wwa €A fremet 39 W
(c) 3.6 days (d) 3 days . - e sy
FH TH F? 5 v‘},x fea o o 47
2. A can do a piece of work m 15 ; i ;/g“.\‘.‘.w; o
days and B in 20 days. If they (@) & (b) = R (a) 80 days  (b) 100 days
together work on it for 4 days, s N (c) 60 days  (d) 150 days
then the fraction of the work () é A man, a woman and a boy can
that is left 1s : &3t let ‘ob in 3.4 and 12
5. A,BandC ca cqmﬁfete a piece SRR ELIES (S 2R B

days respectively. How many
boys must assist 1 man and 1
woman to complete the job in

1
= el
y of a day*

1y, 1afgen aenle=an fedl ®m =i
Fa91: 3, 4 9o 12 & 0 2 g3 2

wW H Rl wE F e 1
ey qu1 1 dfeen & Wy fFad w2
AfEd w9 9 e Sd?

() 1 (b) 4

(c) 19 (d) 41

A and B can do a piece of work
in 10 days, B and C in 15 days
and C and A m 20 days, C alone
can do the work in :

A 3R B w% %W =1 10 f&ff §, B air
C 15 et & @on C @i A 20 feAf &
TF FW F GF &1 C 31Fen e i
H FM T Hm?

(a) 60 days (b) 120 days

(c) 80 days  (d) 30 days
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10. A can do a piece of work in 4
hours; B and C can do 1t 1n 3
hours. A and C can do it in 2
hours. How long will B alone
take to do it ?

A TF FW F 4 ¥ F FX HEA B
B it C st #m =+ 352 ¥ qa1 A
#it C 292 W H FHhd §1 B e
T &M & fRed ¥ 7 w=m?

(@) 10 hours (b) 12 hours

(c) 8 hours (d) 24 hours

A and B can complete a piece
of work in 15 days and 10 days
respectively. They contracted to
complete the work for * 30,000.
The share of A in the con-
tracted money will be:

A 3 B ot & = w15 faa aen
10 f&i & = =t g 81 3% 30,000
o U F w1 S o d w5 afe
# 7 A w1 fewm e s

(a) * 18,000 (b)* 16,500

(c) * 12,500 (d)* 12,000

1
A can do 3

11.

12.

of a piece of work in

3
— of the same

5 days, B can do 5

work in 9 days and C can do %

of that work in 8 days. In how
many days can three of them
together do the work ?

A frdt = =1 %umsﬁq‘iﬂaﬂm

& Bsdt w4 # 3 am 9 i ¥ 2
m.xw}
HHEA &, C 3 =W B~ m'f%ﬁ;fﬁ

ckﬁ) )Sm} f{:{f] 4 days

A man a.nd a boy received * 800
as wages for 5 days for the work
they did together. The man’s ef-
ficiency 1s twice of the boy. What
are the daily wages of the boy?
UF GEY 991 UF oed w5 A o
g wW FH % fad 800 faen
F A B, @ w2 vt fee '
FA €2

1
(e) 45

13.
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14.

15.

1 |
(b) * 563

1

443 () 03

A daily-wages labourer was en-
gaged for a certain number of
days for * 5,750; but being ab-
sent on some of those days he
was paid only * 5,000. What
were his maximum possible
daily wages ?

TH gt #5750 # % A & o
M W TmE TN AfE w5
arafee ®F F R0 38 Fa9 5000
feon T SwEt afvsman e T
fera oft?
(@) * 125
() * 375

()
(d)

* 250
* 500

4 . .
A does = of a piece of work in

20 days; then he calls B and

they fimish the remaining wqr
n 3 days. How long B alon
take to do whole work ? /

Aﬁ?lﬁ?l’q?li T Fq'rr;j’aﬂm

2 ﬁnBaﬁmmW&dﬁ?a
e 99 3 & F T w dA
B srhenl 58 AW #) T60 Tl 6 M2

(a) ﬁ}";gﬂs (b) 37 days
Qﬁ] 40“éays

(d) 23 days

r\.\w.o’

16. ﬁ;}\ does — o bart of work in 15

B
%

st

17.

days. After that he completes
the remaining work in 4 days
with the help of B. In how many
days will A and B together do

the same work?
A FH T % g i 15 At §
% IUF Iy 99 F19 98 B #Y werEar

F 4§ @\ = 2 AT B TR
e T & § Fm omew w=5?

1 2
() a8 days (b) 12 days

1 1
(c) 133 days (d) 87 days

A alone can complete a piece of
work in 12 days. A and B together
can complete it in 8 days. How
long will B alone take to com-
plete the work?

18.

)9

20.
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m(a

A 15ha Trdt M 12 T4 9 2 g
21 A 3R B e 349 W F18 &
TR EFY &, @B o 39 FW F we
faat & wam?

(a) 24 days  (b) 18 days

(c) 16 days  (d) 20 days

A alone can do a piece of work
in 6 days and B alone in 8 days,
A and B undertook to do it for*
3200. With the help of C they

completed the work in 3 days .
How much is to be paid to C ?

A Tt w0t 1 fell % = T &
3t B s 4 @ 8 fedi § W
m%m&&g}zﬁoﬁmmaﬁ
Wﬂﬁ@ﬁaaﬂmﬂmmaﬁ
3 fighd] e 1 fean, < g o A9 C
&m?
375 (b) * 400

) * 600 (d) * 800
Aand B together can do a piece
of work in 8 days, B and C to-
gether in 10 days, while C and
A together in 6 days, if they all
work together the work will be
completed in:
A 3 B fooa fFe ®m i 8 fi
FW €, B @ C faeet 6@ #m # 10
fedi § #d €v@fF C A A fAeaFt 6
it F wE oW w0 v afk e o
Y wM F A w1 fFa & A aura
g Srm?

(&) 3% days (b) 3% days

(c) '3 days (d) 4— days

A and B together can complete
a piece of work in 8 days, B
alone can complete that work
in 12 days. B alone worked for
four days. After that how long
will A alone takes to complete
the work ?

A 3R B faere? fof #m #18 faf
WA F TEd &1 B Ak FH H
12 f&l & % gha1 €1 B a1hel 4 Al
TF FT FE E, STF TN A dF
39 &M & fFa f&A A qu wem?
(a) 15 days (b) 18 days

(c) 16 days  (d) 20 days
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21.

22.

23.
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A and B together can complete
a piece of work in 8 days and B

and C together in 12 days. All
of the three together can com-
plete the work in 6 days. A and
C together complete the work in:

A 31 B frars frdt =m 51 8 feai &
e B 3 C S€t & &t 12 faa o
W L Ghd ¢ Afg dHl e s
F1 6 5 ¥ TATE FT AFG e A
3ih C 35 ™ =1 frad 5 § =ew
F17?

(a) 8 days
(c) 12 days

(b) 10 days
(d) 20 days

g of a work in 8

A can complete 3

= f
= ©

the work in 6 days. In how many
days both A and B together can

complete the work ?

days and B can complete

2 w8 Rl F A

Aqa;aa‘ma';s

Ba;rq:r‘.g 9 =i 6 T ° g Y
T &, d1 A 3l B S et M #i
o A & gmrm w3

(a) 3 days (b) 5 ] days

(c) 3% days (d) 2% days

P can complete % of a work in-—.
10 days, Q can complete 40‘%?0’;." et

p ¥
\
J 7

the same work in 145 géy“s
&

completes % of the &:rr]‘(""in 13

oy, B O
days and S, g’%ﬂ;he work in 7

days. Whé will*be able to com-
plete t]:ipf’ﬁ?ﬁrﬁ first?

1
Pﬁmmmg T 10 f&7 o wmma
FLHFA ¢, Q 36 FW 1 40%, 145

ﬁﬂﬁmaﬂm%n{mmé

mlSﬁﬁﬁwSmmém?

fedi H Tard #X wWEA B, A wA AW
UEel FH eH Fm?

898 |

"

24.

25;

26.

(a) P b) Q

() R (d) S

Two men undertook to do a job
for * 1400. One of them can do it
alone in 7 days, and the other m
8 days. With the assistance of a
boy they together completed the
work 1 3 days. How much money
will the boy get?

Tt = 471400 ® TH FH FH H
a1 foram 399 9 U 3@ M Fi 7 feA
H Y a1 & el 5uy 39 8 i § =
Tl B TH TSP HI werEd ¥ 3243
feail o wm wew w fEwg wEw W
fora w0 foeli?

(a) * 300 (b) * 325

[c) * 275 (d) * 250

While working 7 hours a day, A
alone can complete a piece of
work in 6 days and B alone in 8

days. In what time would they

28.

1 9&w, 1 & o1 1 s fwd &m =t
w9l 20, 30 7 60 feAf § wmma &
o E, o a1 e A oww w
fert 2 gew qen 8 fordf & @y fwad
AEH B TEW B?

(a) 8 (b) 12

(c) 4 (d) 6

One man and one woman
together can complete a piece
of work in 8 days. A man alone
can complete the work in 10
days. In how any days can
orie woman 0:;& complete the

(AN

1@@\&%%%%@
8 faeil § ATTE F T F UH qEW

work?

o St 10 fedi § AT F TEHA

complete 1t together workl_ng 8&/3

hours a day ?
A, 7 =2 yfafed w=m w3 &
ot o T %,Gaﬁﬁ Bt
wiafer @ = sd FE A &§=ﬁ H
FAG F 21 A 5 ot
FW F=E T W"m’q § =
ﬁ? 3 \, o

A
(a) 3 days -\r #[{)] 4 days
(c) {5 (d) 3.6 days
Wo%;g;f'S hours a day, A can
Gog,xp

¥

e

lete a piece of work in 8

zy"&ays and working 6 hours a day,

27.

B can complete the same work
in 10 days. Working 8 hours a
day, they both can complete the
work in

A, 5 =2 gfafes F0 + fmdt 7 w5
8 fe=i # wArE F wwHar & wafs B34t
®M F 6 =5 wfafe =W w10 A
¥ gura F whal 21 A <A faeret 8

i = gm?
(a) 3 days (b) 4 days
c) 4.5 days (d) 5.4 days

A man, a woman and a boy can
complete a piece of work in 20
days, 30 days and 60 days respec-
tively. How many boys must as-
sist 2 men and 8 women so as to
complete the work in 2 days?

€ \i’, Mé

29.

30.
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" g wi?

(a) % days (b) 30 days

(c) 40 days  (d) 42 days

A can do a piece of work in 20
days and B in 40 days. If they
work together for 5 days, then
the fraction of the work that is
left is

A den B f&et #m #1 wwe: 20 &=
agr 40 fedl # w1 W &) ARk S
FM T @ T E?

@) o (b) o

1
(d) 75
A sum of money is sufficient to
pay A’ s wages for 21 days and
B’s wages for 28 days. The same

money is sufficient to pay the
wages of both for:

Fa U A 21 7 Ft weigd 9 B
=1 28 T #t woh & < ga , A
F I U § e B i el & w0
A 7

© 1=

(a) 12% days (b) 14 days

(c) 24% days (d) 12 days
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31.

32.

33.

34.

info@spardha.guru

A, B and C together earn * 150 per
day while A and C together earn *
94 and B and C together earn *
76. The daily earning of ‘C’ is
A, B e C faers wfafsq 150 w93
FUA € wAH A AR C e g
94 91 a1 B iR C fAea gfafed
76 &9 FAR ¢, @ C it e s
FEI 7

(a) * 56 (b) * 20

(c) * 34 (d)~ 75

A work can be completed by P
and Qin 12days. QandRin 15
days. R and P1in 20 days. In how
many days P alone can finish

the work ?

P & Q frert frdl & 1 12 feli
T HATS T G &, Q 3t R 15 feAl |
T R &R P 20 & & & wara &
wFa 2 A P a@el fpan oAl d wm
U HM?

(a) 10 days  (b) 20 days

(c) 30 days  (d) 60 days

A and B working together can

x % 1
do a piece of work in 45 hours.

B and C working together can
do it in 3 hours. C and A work-
ing together can do it in

2% hours. All of them begin the

work at the same time. Find
how much time they will t

AwBﬁ‘memﬁ"rW

A B €1 B 9t C A i
w1 3 HEH T t}@}baw;ﬁmﬁ

w1 F Qﬂfqéﬂ*agtwﬁ%leﬁ-—ﬁ@
g F m{w Fd €, dl w9 R
T H wen g S

(@) 3 hours (b) 2 hours

(c) 2.5 hours (d) 3.25 hours

A and B can do a piece of work
in 8 days, B and C can do it in
24 days, while C and A can do
o 4 .

it in 87 days, in how many days

can C do it alone?

35.

36.

A 3ir B fwe #m =1 8 fidi § =% wed
% Bk C ot =m #1 24 Al § #¢
TFd & wars C R A W FH F
82 fell % F wHA &, W C ot
%M ® fem ft 7 gu Hm?

(a) 60 days (b) 40 days
(c) 30 days  (d) 10 days
YEAR : 2000

A and B can do a piece of work
in 72 days, B and C can do it in
120 days, and A and C can do it
in 90 days. When A, B and C
work together, how much work

is finished by them in 3 days.

A 3t B frelt 5@ =1 72 fiAi |, B st
C 120 f&=f & @en A @ C 90 feAf #

38.

%

TR 21 IR A, Bamcﬁwj}
W FW F ¢ @SR A )

fRaT 9 = B OS

=
40

.M'
1 o~ 1
CE <)
A
A skillec?’" lﬁf skilled and an
uns;}?l%gd@bourer work for 7,

8 dnd 10 days respectively and
t&‘{é”y gether get * 369 for their

(a)

f’“mﬂ( If the ratio of their each

B

to finish the piece of work "™ ./

37.

;i;)‘ 1 1 1
day’s workis = : = : =
Y 3°'2 &’

how much does the trained
labourer get (in rupees)?

TF I, T AEHI 7 T STl
Aot Fw: 7, 8, den 10 i 7% F
w1 #N 3E I FW  faw 369
= firew 21 4f% o7 wfafm s w0

then

T 5 g0 g T A
fehe & | e ?

a) 164 (b) 102.50

(c) 201.50  (d) 143.50

A can complete a piece of work
in ‘m’ days and B can complete
it in ‘n’ days. How many days
will it take to complete the
work if both A and B work to-
gether?

%fy

39.

40.
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Afedt =M % m faal § qo B sdt
*M B n GG 4 g 9 g g, 9k
</ fHeER F19 w § @ w1 e
H TS Bm?

(a) (m + n) days (b) (iX%J days

(c) ( J days (d) [mnTnJ days

A, B and C are employed to do a
piece of work for* 575. A and C

are supposed to ﬁmsh of the

work togethe 0 mount sha]l be
id to Big /|

paid to ; i W\_\w}* *

A, B wa1(C @i et #1575

ma:ﬁg‘é‘ém W T S $1 A En

gi;(:\’r‘ﬁ:a%ﬂ 2 T 0 S B A B
%\%Wmaﬁ@ |

(a] * (b) *
(€) (d)
A and B together can complete
A
alone can complete in 20 days.
If B does the work only half a
day daily, then in how many
days A and B together will com-
plete the work ?

A 3R B ot fRet &m &1 12 felf 7
FTE CIA A FW H 20 fA A
HH FE TEA €| 3B s s fm
wH FEN sS4 A e B faeee fes =i
o Fm gu Fw?

210

200 © 475

a piece of work in 12 days.

() 10 days  (b) 20 days

(c) 11 days (d) 15 days

A can do a piece of work in 20
days which B can do in 12 days.
B worked at it for 9 days, A can
finish the remaining work in
A forelt m i 20 Al § w1 wEA g,
Safer B 36 &M &l 12 A | ¢ 5
21B 9 f&Al o Fm wwa €, & a0 g
F A fa feal § g Fwm?

(b) 7 days

(d) 3 days

(a) S days
() 11 days

|" 899

www.spardha.guru



41.

42

43.

44
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Two men undertake a job for °
960. They can complete it in 16
days and 24 days respectively.
They work along with a third
man and take 8 days to com-
plete it. Then the share of the
third man should be

7 =feEl 50960 § UF wW FH H
S fomm =A== 51 = = FE
16 fei e 24 f&=i o W #T v
€1 & dr =fam % W wW w8
¥ ®W T FW E, A B Aogd ¥ 9
Ay =fa 1 feemn F| w1

(@) * 155 (b) * 165

(c) * 160 (d) * 150

If there i1s a reduction in the
number of workers in a factory
in the ratio 15 :
crement in their wages in the
rate 22 : 25, then the ratio by
which the total wages of the

11 and an in-

workers should be decreased i1s

afy fedt vt # wegy i dWenm ®
5:11 % oqua § S e € au

Heigdl @1 Hagd § 22 : 25 & A9 |

afs et 2, @ worey W wel wegh o

frg e o = amut?

(@) 6:5 (b)5:6

() 3:7 (d)3:5

Stanic and Paul take a piece of

work for * 28,800. Stanic alone

45.

46.

g ster-srem fadft =M & waEa d

x H 4 52 oW § i 3 w1 w @
O oy # 8 W W €, @ <Al
foemss =9 ¥ =i fear g § Q@
FLT7

(a) 140 min.
(c) 160 min.

(b) 120 min.
(d) 150 min.
x does 1/4 of a job in 6 days. ¥
completes rest of the job in 12
days. Then x and y could com-
plete the job together in

XUF e F9 6 a7 § F1a1 81 y 9
w9 H 12 f&F & 9@ w1 €1 xR y
faere & =t fvm w93 # 9u w2

48.

Three persons undertake to
complete a piece of work for *
1200. The first person can com-
plete the work in 8 days, sec-
ond person in 12 days and third
person in 16 days. They com-
plete the work with the help of
a fourth person in 3 days. What
does the fourth person get?

= = 12007 o uF 0 FH H
391 o1 €| el = 8 Tl § g
F1 T ¥, qEU AR 12 A d qen
e =t 16 fagi s+ 5 9 T
%m*rs‘xmﬁ%gﬂ" T @ & 3 fe 7
T W L A S st
e T 27

gl (af ;t;gi) (b) * 200
@) 9 days  (b) 83 days o 0225 (d) * 250
O ,f YEAR: 2001
(c) 92 days (d) % days
5 ¢ 5 S8 ,/349 A can do a piece of work in 16

Janardan completes —ﬁf)ﬁ}s

work in 10 days. Q he% will

take to complete —-{ﬂof tl‘fg same

\;ﬂ \
work, 1s dé N e
-

42 3

o
mmaﬁma% ﬂqma?rfm?

r\.

“Wt‘faﬁnm?

could do it in 36 days, the oatggrﬂ---\
ce'

in 48 days. With the assist
of an expert, they finish TN )
days. How much regﬁré‘tlon
the expert should g

s qu1 e 2 .e'u r{ﬁ wH
S R 1 of eEe =m = 36 fai
qe qie gﬁarﬂa 1 48 fAl § #
T 31 T SR A T &
FW 12 6 & W o few S g, o
sT9er =afa w1 fra e

(a) * 10000 (b) * 18000

(¢) * 16000  (d) * 12000

If x can finish a job in 4 hours
and y can finish the same job
in 8 hours independently,
then they together will finish
the job in

ﬁ.‘.

900 |

47.

|a) 4 days/f&7 (b) 8 days/feT

[c) 6 days/f& (d) 9 days /T

A can do a piece of work in 12
days while B alone can do it in
15 days. With the help of C they
can finish it in 5 days. If they
* 960 for the whole

work. How much money A gets?

A freft @m #3112 A A # uEar @
wafe B39 15 fAl | &t 561 21 C
I HWerad | il e W w1 5
 mur w2 @ oW % fam 3=
960 fiyert &, @1 A &1 fFad =9 wra
Eul

(a) * 480 (b)
(c) * 320 (d)

are paid

1240
* 400

o

50.
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days and B in 24 days. They
take the help of C and they all
together finish the work in 6
days. If the total remuneration for
the work is * 400. The amount (in
rupees) each will receive, in pro-
portion, to do the work is

A feht %1 =1 16 faaf § waf B 3t
wM 1 24 fedi & g wa g1 C #
T | ol e #m # 6 fei |
HOS F4G &1 47% wW % fau 400 €9
wel Tenh e €, 9 el W R
w9 e enl ?

(a) A=150,B=100,C =150
(b) A= 100, B=150,C =150
(c)A =100, B = 150, C = 250
(dJA =200, B= 150, C =150

A and B can do a given piece of
work in 8 days, B and C can do
the same work in 12 days and
A, B, C complete it in 6 days.
Number of days required to fin-
ish the work by A and C i1s

A =in Bfew u ot w5 w1 8 A
F THEI &, B 3K C 38 wW A 12
e 5 =1 g%d € 3iTA, B, C3d 6 f&a
§ g0 FT TR €1 A 3R C g 39 FW
F G wH H e feq @

(a) 24 days  (b) 8 days

(c) 16 days  (d) 12 days
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51. In two days A, B and C together

can finish é' of a work and in
another 2 days B and C together
can finish % part of the work.

Then A alone can complete the
whole work in.

2ﬁ=ﬁ‘ﬁA,Bﬁr£Can%m{n
F WHT & R et 2 Al § B @R C
frert -5 wfiumm%laa}x
mmmfﬁ#ﬁaq@m

Tk &7
(a) 15 days  (b) 10 days
(c) 12 days (d) 14 days

52. A can do a piece of work in &

days which B can destroy in 3
days. A has worked for 6 days,
during the last 2 days of which
B has been destroying. How
many days must A now work
alone to complete the work ?

A fddt =m F1 8 ol %1 wwar © 2l
B39 &M &1 3 &l § 72 F1 "Ear 2
A, 6 f&Al % F™ Fa1 ¢ iR B st
oo e e T -
wH W FH F fom A F R /=

55.

56.

S,

L%

I FE B
a) 7 days b 71 dave
(a) y (b) 75 day
2
(c) 75 days (d) 8 days e

Working efficiencies of P, ang MQ,,}
for Completlng a piece \.Wé‘[‘k
are in the ratio 3 : 4,/The num-
ber of days to be takefi by them
to complete th \({?E{. will be in
the ratio b

TF FE F - '3 fod Paan Q
F1 A DI 3 1 4, @ FW
Fi T w0 % foe 5E # g for g
fei &1 eFTE =0 Em?

() 3:2 (b)2:3

(c)3:4 (d)4:3

If 6 men and 8 boys can do a piece
of work in 10 days and 26 men and
48 boys can do the same in 2 days,
then the time taken by 15 men
and 20 boys to do the same type
of work will be :

93.

54.
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%
3
%

58.

o
rzwwomen do the same piece of
Nt

afg 6 7E9 3R 8 weF TF HH FI 10

el § wen 3 ¢ i 26 TEW R

48 A% SH wE H 2 A H oW

gFd &, @ 15 gEW 9 20 w=H I

w=W & fREad oAl d w012

ja) 5 days (b) 4 days

[c) 6 days (d) 7 days
YEAR : 2002

5 men can do a piece of work

in 6 days while 10 women can

do it in 5 days. In how many

days can 5 women and 3 men

do it ?

59E9 UF FH FH 6 G H o gwd

&t 10 wfgemd 3§t ®m =i 5 fadi §

T Al 21 5 Hfeend iR 3 gEy st

w1 i & 9 g w2

(a) 4 days (b) 5 days

(c) 6 days (d) 8 days

If 10 men or 20 boys can rna_ke

260 mats in 20 days, then . cg_vg "
37

many mats will be made
men and 4 boys in 20 daygs?j

AR 10 W A 20 T 205 §
260 =T I TEd 3@?&' a4
w2+ 20 A o =2TEAT SA?
(a) 260 ;4;\ i}> 40

(c) 280 ‘;w‘[d] 520

If 3?’1’“’1‘@}'; "6t 6 women can do a

g;.ﬁc work in 16 days, in how
flng;}y days can 12 men and 8

work ?

afz 3 g&% a1 6 Hieemd TF FW F 16
i # @ wHd T@ 12 TE9 e 8
afeend SHt w1 fE G T S
(a) 4 days (b) 5 days

(c) 3 days (d) 2 days

If 16 men or 20 women can do a
piece of work in 25 days. In what
time will 28 men and 15 women
doit?

afg 16 g&s a1 20 "fecmd tF wH F
25 fedl # 2 T 7, 9 28 T 3R
15 #feemd s#t #m 1 faa ol o
HL?

(a) 14% days (b) 33% days

(c) 18% days (d) 10 days

99.

60.

1

62.
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If 3 men or 4 women can plough
a field in 43 days, how long will
7 men and 5 women take to

plough 1t?

aft 3 gey a1 4 foral ws @ =i 43 fAf
H Siid wehd & o 7 gwd au 5 feal s
= & e faAl 3 S

(a) 10 days (b) 11 days

(c) 9 days (d) 12 days

A wall of 100 metres can be
built by 7 men or 10 women in
10 days. How many days will 14
men and 20 women take to

(b) 20
(d) 30
2 men and 1 woman together
can complete a piece of work in
14 days, while 4 women and 2
together can do it in 8

* 600 per

men
days. If a man gets
day. how much should a woman
get per day ?

2 gw" aen 1 Afeen fedt =@ = 14
e § wew w7, SAfF 4 wigend qen
2 &y 3t FW w1 8 faAl d ¥ wFd
& afs ww g F wfdfs 600 e
g, d kot # g fead '
foei?

(a) * 400 (b) * 450

(c) * 480 (d) * 360

Jyoti can do gof a job in 12
days. Mala 1s twice as efficient
as Jyoti. In how many days will
mala finish the job ?

saifa feet &M #1 % 12 fe o
A FL Gl €1 HIell I HrE A
waifd &1 i €, 9 Hien 9 % H
forad feat & gura F4M?
(b) 8 days

(d) 16 days

(a) 6 days
(c) 12 days

|" 901
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64.

65.

66.

67.
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A 1s twice as good a workman

as B and B is twice as good a

20 7&Y 71 24 wfewnd fHE FW # 20
& T FX G €, A 30 YW qur
12 fomt +m +:8, @ wm e & A

8 g&w a7 17 wfeant fagt = = 33
fedi & T1 Wl B 12 qE9 @9 24

workman as C. If A and B can : =2 Hfeerd 29 7 % oF U i T foAl
.together finish a piece of t..vork @) 10 days  (b) 12 days 7 wnlt afy 3 s s § Y w512
in 4 days. then C can do it by Y Y
himself in (c) 15 days  (d) 16 days (a) 44 days  (b) 43 days
A Fi FHama B %1 S & qop By 08 Twenty women together can (c) 34 days  (d) 66 days
i CH 39 A B complete a piece of work in 16

il k :Ig‘"“ ) days, 16 men together can com- 72. 3 men and 4 boys can complete
st o 7t 4 ol 3w o e € plete the same work in 15 a piece of work in 12 days. 4
al C 3dt w1 # fear fedl d wora days. The ratio of the working i3h do th
M7 capacity of a man to that of a men and 3 boys can do the
(a6 dava (b) 8 days Womanw is: * same work in 19 days. Then 2
(c) 24 days  (d) 12 days 20 feri fae frelt w1 =t 16 f& men and 3 boysican finish the

¥ @ & Tkl § 9o 16 789 fiers kindend O
If 1 man or 2 women or 3 boys Ry - & et d work 1ns: { }w‘
can complete a piece of work in ?ﬁ bt i_;ﬁfﬁ '@?‘1 = ! 3 7ew am&w Breft = =1 12 fi
88 days, then 1 man, 1 woman W Bl 1 FAFAA T ST 5 Y s i ;
and 1 boy together will complete | = L T 3 Iww
it in (@) 3:4 (b)4:3 o T 31 10 el 4 7w $7 2
gfe 1 gew =1 2 foai =1 3 wegs fd (c) 5:3 (d) 4:5 ( e 3 wies fhed foAl o w=m wmra
Fm FI 88feA § &% wHd &, @ & 69. 2 men and 3 women can do a éfzé e V)
TE, TF S a9 UF a=H e w1 piece of work in 10 days whﬂl
1 e T B we w7 Shmeny SEth o e G R thé ” (@) 173 days (b) 52 days
same work in 8 days. THe
(a) 36 days  (b) 42 days men and lwomen carl dcwfhe (c) 8 days (d) 22 days
(c) 48 days  (d) ‘54 days same work in . «a\ \. ) 73. If 8 men or 12 boys can do a
Tapas works twice as fast as 2 7& du 3 femn ‘ﬂﬁ'ﬂf # 10 ; ¢ K in 16 d h
Mihir. If both of them together e =1 geod B SW 3 2 Rle S WEES 28 ays, tae
complete a work in 12 days, fort st -nmy g“ﬁq’fﬁ FT Tl €, number of days required to
Tapas alone can complete it in At 2 ey R T e R complete the work by 20 men
maﬁhﬁwﬂﬂ@ﬁ?ﬁﬂm ﬁw‘;{;) and 6 boys 1s
Fa Bl Az AT e fFet #=m 12 ¥ <
il F wme = €, d U s w r&g«—p days  (b) 125 days A% 8 7ew =41 12 wew fHe F:H
%1 fehed wwa H @ wHEn? Cop 16 faf o qu % wwd €, 9 20 gEN
(a) 15 days  (b) 18 days (¢) 13 days  (d) 13 days qs1 6 @ew fwad fdi o & qu w2
(c) 20 days  (d) 24 days_ s xw} “70. 5 men and 2 women working (a) 53 days (b) 6 days
2 men and 3 women t c_:‘E‘l_}}er together can do four times as 3 3
or 4 men can complete & plece much work per hour as a man 1 1
of work in 20 da men and and a woman together. The work (c) 85 days (d) 73 days
3 women wil Q_Qgsicte the done by a man and a woman
A shiaild - be inilie sulis: 74. If 10 men or 20 women or 40
2 &Y ﬂgg} \Jﬁ:ﬁlﬂ 7 4 7Ey 5 qEy aun 2 foal frawy, 1 qE children can do a piece of work
mWﬁQUﬁ-{q’[ﬂmm den 1 S % ufd =2 &M % IR T in 7 months, then 5 men, 5
g%d €1 al 35 w1 W 3 &9 941 3 FH F AFS B A TH qEY Tl TH women and 5 children together
fomt fem fl & = w2 ol % FW H I F W2 can do the work in
(a) 12 days  (b) 16 days () 1:2 (b)2:1 af 10 & 71 20 e W 40 A=
(c) 18 days  (d) 19 days _g1:3 (d) 4:1 S
71. Either 8 men or 17 women can

20 men or 24 women can com-
plete a piece of work in 20 days.
If 30 men and 12 women under
take to complete the work, the
work will be completed in

902 |

paint a house in 33 days. The
number of days required to
paint three such houses by 12
men and 24 women working at
the same rate is:

Copyright © All Rights Reserved | https://spardha.guru/

TEY, 5 Afgand qo1 5 54 foed wm
I Tt T o gu w3

(a) 6 months (b) 4 months

(c) 5 months (d) 8 months
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76.

7.

78.
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YEAR: 2003

2 men and 3 boys can do a piece
of work in 10 days while 3 men
and 2 boys can do the same
work in 8 days. In how many
days can 2 men and 1 boy do

the work ?

2 7E 7 3 oreH e wm w10 A
H w=fF 3 gF9 71 2 =F SH FW H
8 i # 3 A € 1 2 By a1 a=d
o Tl & m wmr w2

(a) 8 days (b) 7 days

(c) 12% days (d) 2 days

A man a woman and a boy to-
gether can finish a piece of
work in 6 days. If a man and a
woman can do the work in 10
and 24 days respectively. The
days taken by a boy to finish the
work is

1 q&Y, 1 & a1 1 aeH o e
M i 6 Tl § qu = wwa € A 1
geq a1 1 ot ®m w1 FA9: 10 fE
q9 24 A o w9 W GE €, O T
weH T fal § F9 9erg Fam?
(a) 30 days (b) 35 days

(c) 40 days  (d) 45 days

If 40 men or 60 women or 80
children can do a piece of work
in 6 months, then 10 men, 10

women and 10 children
together do the work in

gfs 40 g&9 71 60 wfgamd =1 80

et m =1 6 wEH o T Y }
& 10 gem, 10%@3%10@*)
ﬁwmmmﬁﬁq‘r%ﬂwm?

gy, L
My

6
(@) 5 13 &/

(b) 6 moI}hs \.} b
o

(c) 5% ni':;nths

montl
A

(d) 11% months

Two workers A and B working
together completed a job in 5
days. If A had worked twice as
efficiently as he actually did,
the work would have been com-
pleted in 3 days. To complete the
job alone, A would require

Ty,

80.

q Ut Ada B 5 Al § ww #m 82, 4 men and 6 women complete a

TG T ET ¢ A A S st |
W oFTA € oAl Fm 3 faA d g e
Fm, T A ST w9 & fead g
T HM?

(@) 55 days (b) 65 days

(c) 7, days (d) 8] days

One man, 3 women and 4 boys
can do a piece of work in 96
hours, 2 men and 8 boys can do
it in 80 hours, 2 men and 3
women can do it in 120 hours,
then 5 men and 12 boys can do
it in

1 g&n, 3 wfeard qon 4 7=4 fwdt &1
#1 96 He § G w1 Hed ¥, 2 g 3R
8 wiew Tt F1H F 80 W H w¥ +

83.

%.w\

UHd & d¢1 2 TEY gen SWH?IE{,J
F 120 B ¥ W R TH E, A 5,959

a1 12 wig® o w2 §

; hours (b} “423— :}'Lours
w,\ W;‘ ‘;
houg’” > }d] 44 hours

(a) 3975

[C] 43

3 men ané Z w&men can do a job
in 5 da){gswhjle 4 men and 6
woﬁgr}f@n do it in 4 days. The
I}ﬂm‘hdr of days required for a

;-\,é«rg;aip of 10 women working to-

rcH{i;é‘ether, at the same rate as be-

81.

fore, to finish the same job in :

3 gEw a7 wfeend vk FwW w5

# F1 Hd T FafF 4 gE9 a1 6 Afeard

= FwW w4 R F = owma &A1
Afgensii *1 "y faeee fhad fadl o @M
| wim?

(a) 30 days (b) 36 days

(c) 40 days  (d) 20 days

One man or two women or three
boys can do a piece of work in 88
days. one man, one woman and
one boy will do it in

T [EY A1 2 Higawd @ 3 a=4 frelr
19 I 88 fadi F #T Thd €, @ 1 ¥
1 dfeen gen 1 5= w0 wt o &t
4 Fmm?

(a) 44 days
[c) 48 days

(b) 24 days
(d) 20 days

>

84.

85.
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work in 8 days, 2 men and 9
women also complete in 8 days.

The number of days m which 18
women complete the work i1s:

4 g9 qo1 6 Higamd fwmd wm w8 f
¥ garE H € AR 2 ged aen 9 wfeerd
oft %8 1 8 fedl F grw @ € o 18
wfgend wm Fi fmad i & wura w0t

(a) 5% days (b) 5% days

(c) 4% days [d] 4 days

15 men ca @sh a piece of
work 1n ?;0 d@s however it
takes 3\wémen to finish it
IH(ZO“&QYQ If 10 men and 8
women<undertake to com-
1e work, then they will

take

FM ® 15 989 20 feoi § @ &
T 8, SEth 3H FE #5124 Afzad
20 f&a # qu e 1 10 gew i 8
ofeemd 39 w=E w fFe A § gm
F?
(a) 20 days  (b) 30 days
(c) 10 days  (d) 15 days
3 men or 5 women can do a work
in 12 days. How long will 6 men
and 5 women take to finish the
work?
3qey 71 5 Higend fFdl wm w12
el ® ware T Tl €, 9 6 IEY ae
5 qfgemd =M ® fhad A § wHw
H?

(a) 20 days  (b) 10 days
(c) 4 days (d) 15 days
YEAR: 2004

A particular job can be com-
pleted by a team of 10 men in
12 days, The samejob canbe com-
pleted by a team of 10 women in 6
days. How many days are needed
to complete the job if the two
teams work together?

10 oS i wF 9 uE FH #5112
Al H w g 21 oSH owW # 10
ufeenat 1 2 6 feAi # ¢ gt 2 Afg
< S s T e &A1 e Al
o FW @ B
(a) 4 days

(c) 9 days

(b) 6 days
(d) 18 days

|" 903
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86. A certain number of men can

87.

88.

89.

complete a job in 30 days. If
there were 5 men more, it
could be completed in 10 days
less. How many men were in
the beginning ?

%P TET UF FW F 30 G # T
T B A% 5 7EY A o Sa w e
10 f&7 veel @ 81 Sl 21 309 § fhay

&9 4|
(a) 10 (b) 15
() 20 (d) 25

A contractor undertakes to
make a road in 40 days and em-
ployes 25 men. After 24 days, he
finds that only one-third of the
road 1s made. How many extra
men should he employ so that
he 1s able to complete the work
4 days earlier ?

TF 3Far 7 40 A # 9% a9 &+
I fom @R T = # fod 3= 25
Tl F HW W A 24 & % uvEE

p 1
9 v fF Faa 3 T HEE S G

214 4 57 ved F1 @A+ & b
o sfafem 9F9 =@ W e w?
(2) 100 (b) 60

(c) 75 (d) None of these
A does half as much work as B
in one sixth of the time. If to-

gether they take 10 days to

complete a work, how much
time shall B take to do it alone?

B# — 'GTF-I'I?A Bﬁwngﬂ:’:}}

W F@ ¢ A F A ﬁa@ 10 feAi
T W G G %‘@wB Sehen 39
w1 A e §

(a) 70 days A&ays

(c) 40 day 20 days
Kamal '\I:}Qé piece of work
n 15 day'{ Bimal 1s 50 per cent
more efficient than Kamal in
doing the work . In how many
days will Bimal do that work ?
F6 UF w9 1 15 & § 0 g 2
fomer =1 FH ama F9d ° 50% A
@, it fomrer fomer ol & w1 = wom?

(a) 14 days  (b) 12 days
(c) 10days (d) 10% days
904 ||
info@spardha.guru

90. 8 men can do awork in 12 days.

91.

92.

After 6 days of work, 4 more
men were engaged to finish the
work. In how many days would
the remaining work be com-
pleted?

8 TEY TH wM FH 12 faA § X wad
#1 6 fad ® # wvEr 4 SR gEY ®H
T M W, S w R i o
eH B

(a) 2 days (b) 3 days

(c) 4 days (d) 5 days

A certain number of persons
can complete a piece of work in
55 days. If there were 6 persons
more, the work could be fin-
ished in 11 days less. How
many persons were origmally
there?

F9 AT TF FM FI 55 G § =
w0 21 4 ¢ s @ o st @ B
11 & Teet @ew & W, 9 ARy §
v =afw &2
(a) 17

(c) 30

(b) 24
(d) 22

day complete a pieoce;, of W

20 days. In how m}ﬁyd can
7 men working for{10 “ours a
day complete i,1:“fj§\s.€:11'ne piece of
work? p R

8 gFEY 0 H mmww

ﬁz,aaija-qm%‘ a7 10
= &f )mmmqmﬂm

\-"‘»w"’

9 {,}5] 20— days (b) 20— days

v

93.

94.

<) QI% days (d) 22% days
639 persons can repair a road
in 12 days working 5 hours a
day. In how many days will 30
persons working 6 hours a
day complete the work?

639 =afa 5 =2 ufafza =m =% 12 &=
T U HF F WG W B 30 Al

6 =< wfafs #=m F& e Al o =
e FH?

(a) 210 days (b) 213 days

(c) 214 days (d) 215 days

If 72 men can build a wall of 280
m length in 21 days, how many
men could take 18 days to build

a similar type of wall of length
100 m?

A2
s,#

& &9 ¥
8 men working for 9 h u-rg\»}a

95.

96.

<

™ \Hl;prs a day. If 2 persons join

g 72 959 280 H. Tl d9R 21 fei
A, @ 18 A H 100 W e AR
a1 % ford fora gEul # s enii?
(a) 30 (b) 10

(c) 18 (d) 28

If 6 persons working 8 hours a
day earn * 8400 per week, then
9 persons working 6 hours a
day will earn per week

afe 6 =afe § = ufafed wmM %t 8400
w7 wfd TEE wuE € | o = 6 =

HfafeT wM wiF ofa feper a2
(a) * 8400 ﬁ 6800

b 4
(©)* 94 0&44&] 16200
5 persoﬁswcan prepare an ad-
nns“smnwhst mn 8 days working

ﬁtgem so as to complete the

97

98.
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“work in 4 days,

how many
hours they need to work :

5= 7 = wialed M F UF THiEA
gt 8 Tl % qar w4 &1 FW F:14 f
F m e % fou 2 =fE @) on W

(a) 10 hours (b) 9 hours
(c) 12 hours (d) 8 hours

4 mat-weavers can weave 4
mats in 4 days. At the same
rate how many mats would be
woven by 8 mat-weavers in 8
days?

4 5 i 4 Tl 7 4 e g €A
nfd & 8 g 8 &l | farartt =er g7
() 4 (b) 8

(c) 12 (d) 16

10 men working 6 hours a day
can complete a work in 18
days. How many hours a day
must 15 men work to com-
plete the same work in 12
days?

10 %9 6 =2 Hidfed wM w4 el Fd
118 fHl § = ww & 56 w7 w
12 feAf % = w0 % 57 15 3=l &
for =2 widfem wm = el

(a) 6 hrs/day (b) 10 hrs/day

(c) 12 hrs/day(d) 15 hrs/day

www.spardha.guru
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100.
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102.

103.
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A certain number of men can
do a work in 60 days. If there
were eight more men, it could
be completed in 10 days less.
How many men were there in
the beginning ?

%3 =t Frdt w7 31 60 Rl 7
Hehd 1 Al g = AR A s dl e
10 faq veat wen @ a2 anw o
form =afad & = ® 97

(a) 70 (b) 55

(c) 45 (d) 40

12 persons can do a piece of work
in 4 days. How many persons are

required to complete 8 times the
work in half the time ?

12 =afe fedt = =1 4 fedf 6 =0
Fd el 8 T w1 @ wwg ° R

iR [ F qRA?
(a) 192 (b) 190
(c) 180 (d) 144

.A work could be completed in

100 days by some workers. How-
ever, due to the absence of 10
workers, it was completed in
110 days. The original number
of workers was :

w7 "o fot =m =1 100 fA w =
T TR O FA 10 7oigy Fi sutafa
% ®R0 wM 110 & § @@ g
ol ® s gem @ oft?

(a) 100 (b) 110

() 55 (d) 50

A job can be completed by 12

men in 12 days. How many,

extra days will be neede to.

complete the job if 6 men \j%%v“e
after working for 6 days\? *

12 i fareit s bt 12, foell & e wranet
& =% 6 = 6 TP T

3w F wel TR
e wmit )
(a) 3 days‘{*“} tﬂ:)] 6 days

(c) 12 days  (d) 24 days

A contractor undertook to com-

plete a project in 90 days and
employed 60 men on it. After 60

days, he found that % of the work

has already been completed.
How many men can he dis-
charge so that the project may
be completed exactly on time?

104.

105.

TF R 90 o o wF Wi Fi
TG FH 1 SH ol 8 IR T8 fod
8 60 M 1 FW T T T 60

= L 3 =
a:wa%m%ﬁsz qF FHH B

T ¥ wE W FE 90§ S IEE
fod g fdd <l 1 &M W H g2
a1 87

(a) 40 (b) 20

(c) 30 (d) 15

60 men could complete a piece
of work 1in 250 days. They
worked together for 200 days.
After that the work had to be
stopped for 10 days due to bad
weather. How many more men
should be engaged to complete
the work in time ?

60 @i fwet wm #1250 A § #2
TFd T 3EE 200 feA 9% @ Fwm

o 36 A% TE W & FO EE
10ﬁﬁﬁmﬂ$ﬁmwmm§f€w
e T e e it )

F S B 9,
(a) 10 (b) 155 \ 2
(c) 18 (d)zﬂ‘{ )~

£y
L

If 28 men Sgoﬁgigﬁe % of a piece

of work{pm:g‘%veek, then the
nurn‘ggr ‘of men, who must be
en géa;e to get the remaining
wotk.completed in another

(‘\ﬁg‘ﬁi‘: 1s

T s

106.

(o

Tfg

T F © A a9 g FW H CF e
H @ w1 & o fad qel & e
g2

(a) 5 (b) 6

(c) 4 (d) 3

A 10 hectare field is reaped by
2 men, 3 women and 4 children
together 1n 10 days. If working
capabilities of @ man , a woman
and a child are in the ratio 5 :
4 : 2, then a 16 hectare field
will be reaped by 6 men, 4
women and 7 children in

2 &Y 3 Hfgend @on 4 =4 fAaat 10
w1 10 T #ed 8 Ak e,
AfEn T == Fl FEFET FSTIINE 5
14 12 B 16 FRA B F 6 TH, 4
Hfgend a1 7 "== Tohed &7 F w7

zsw% qnT FH F | gEE o
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110.

(b) 6 days
(d) 8 days

(a) 5 days
(c) 7 days

107.1If p men working p hours per day

for pdays produce p units of work,
then the units of work produced
by n men working n hours a day
for n days is

7fs P yew P = ufifzd &m w P faAf
# Pgife &M Fd ¢l @ n &9 n =
ufafer = == n & A 5 gfe
FT FH?

) 2

n? .-._:3 s
= )=

[y

108.If two pﬁdﬁs}\wﬁh equal abilities,

 two jobs in two days then
10@"p@r§0na with equal abili-

can do

wmj‘iegﬁ_‘qg}{ do 100 similar jobs in

Mﬁﬁ*’m‘ aa A % @ 2 e H 2
%imaﬂﬂ%‘a’l, 100 H9H e =

@M sH W & 100 w F e &
H T w2

(a) 100 days (b) 10 days

(c) 5 days (d) 2 days
.A road of 5 km length will be
constructed in 100 days. So 280

workers were employed. But af-
ter 80 days it was found that only

1
3-2- km road was completed. Now

how many more people were
need to finish the work in the
specified time?

5 fa. i, @+t weF 1 100 foi & s7m
% ford 280 wagd #1 ®W W @mE
T SR 80 AT & A% Ul wen 6

Fae 3% frfl 5% o1 o £, 9w

& W FA & ford frad aifafaa
Tegl H FW W AT F TEE 87
(a) 480 (b) 80

(c) 200 (d) 100

7 men can complete a piece of
work mn 12 days. How many ad-
ditional men will be required to
complete double the work in 8
days?

7 7ey fadl wm & 12 @ § % w9
&1 S wW Wl 8 Rl ¥ we e &
o foras wfafsa gl =i =ww@ 2mi?
(a) 28 (b) 21

(c) 14 (d) 7

|" 905
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1132.

113.

114.

Li15

A does half as much work as B
in three-fourth of the time
taken by B. If together they take

18 days to complete the work,
how much time shall B take to
do it alone?

B aW for M W H ;W 6, A
SHHT A FE FLA1 | AE ST (Rt
18 feAl & &8 e #% €, @ B s
*m w e B § we wim?

(@) 30 days (b) 35 days

(c) 40 days  (d) 45 days

A does half as much work as B
in one-third of the time taken
by B. If together they take 10
days to complete a work, then

the time taken by B alone to do
it would have been

Bmmmwaﬁ%wﬁ,}\

SEEH A W F 1 AR A R
FM F 10 feAil § 99 w3 §, 91 B
s wM HW G B F = wm?
(a) 30 days  (b) 25 days

(c) 6 days (d) 12 days

A can do a piece of work in 9
days. If B is 50% more etficient
than A, then in how many days
can B do the same work?

A forelt w1 9 el § o T ®1 AR
B # ®1 qwa A € 50% s &
3€ W B frad & # wim?

(a) 13.5 days (b) 4.5 days

(c) 6 days
A is 30% more efficient than B'agi

can alone do a piece of 1723

days. In how many days A'and B
1 an “finish the

A FH s BAB0% s # s
9% e AsElEd 1 23 i § =
gFar #, ar Aein B fier m &1 e

e § g w60
(@) 11days (b) 13 days
(c) 20days (d) 21 days

%’ number of men can finish a
piece of work in 30 days. If there
were 6 men more, the work
could be finished in 10 days
less. The original number of
men 1s

906 |
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(d)3days £

X qEni wt wean fae wm w6 30 Al
i F wahdl & afg 6 &9 3R e Wil
%M 10 &7 gse W 8 St
TEel it amfas dem Je FH

(a) 6 (b) 10

() 12 (d) 15

. Working 8 hours a day, Anu

can copy a book in 18 days. How
many hours a day should she
work so as to finish the work
m 12 days ?

8 =iz ufafm =+ o1 fslt fom
#118 el # Tohet T Hehell 21 @Al hw
F 12 fedf o v w9 # g =9
wfafed e 5e Fm &0 gm?

(&) 12 hours (b) 10 hours

(c) 11 hours (d) 13 hours

If the work done by (x— 1] men

in (x +1) days and the work
done by (x + 2) men in (x — 1)

120. Some carpenters promised to

121.

o

* h@ﬁg the work in

do a job in 9 days but 5 of them
were absent and remaining
men did the job in 12 days. The
original number of carpenters
was

5 agt fwH ®m w9 faA § U we
F AR FW T ofeT T ¥ 5 @
Frafeom Ted € St 99 gy w12 e
¥ wM w® w3 ¢, a a@sd H
arafas de @ ot?

(a) 24 (b)-20

(c) 16 ( [(ﬁ}S

Some pérs ons“an do a piece of
work 1., f?..xagays Two times the
nuffl

f6f such persons will do

O 5 i forl w7 71 12 el A T

days are in the ratio 9 : 10, theq,f‘*

the value of x i1s equal to: ,
afg (x—1) =afFal & g1 (x+ ar
R TG T T (x+2) AR @ g
:x—l;ﬁ'—ﬁﬁﬁmmﬁm :ﬂgter
110 1 xF WR T SN

(&) 5 zi’bip

7 A ()8

.A can do azrﬁece of work in 70

daﬁh@‘d“‘é is 40% more effi-
1t ﬁan A. Then the num-

bewéof days taken by B to do the
e work 1s

A it T 91 70 T A we wwa &

St B # w1 & A ¥ 40% e

41 B fm A o % wEa Fm?

(a) 40 days (b) 60 days

(c) 50 days  (d) 45 days

. A can do a certain work in 12

days. B 1s 60% more efficient
than A, How many days will B
and A together take to do the
same job ?

A freft wm #1 12 9 F waa W=
TFdl 81 B # w1 amar A 9 60% =iy

% 2l A 79 B et oo fedf & =
AT F?
80 70
[a) 3days (b) 3 days
75 60
[c) 3 days (d) 73 days

oy
}».»;

122.

123.
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oA feil § wuE w1 wEd €2
(a) 9 days (b) 6 days
(d) 3 days

If 80 persons can finish a work

(c) 5 days

in 16 days by working 6 hours a
day, the number of hours a day
should 64 persons work to fin-
ish that same job in 15 days is:
afg 80 =afga frdt =m =1 6 52 wfafea
FM #0516 2 § #1 uF4d &, @ s
Fm # fored =2 ufafed &M =3 64
A 15 feAl # wared 317

(@) 5 hrs (b) 7 hrs

(c) 8 hrs (d) 6 hrs

Three men can complete a
piece of work in 6 days. Two
days after they started the
work, 3 more men joined
them. How many days will they
take to complete the remain-
ing work?

3 7=y fore = =i 6 Al o wwra =
Tad 81 39 wW IE FwE @ 2 i 3
] 3 EY AR 9 £ oA 9 W
3 foras feol o wuma w7

(b) 2 days

(d) 4 days

(@) 1 days
(c) 3 days
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125.

126.
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YEAR : 2005

If 4 men or 6 women can do a
piece of work in 12 days work-
ing 7 hours a day; how many
days will it take to complete a
work twice as large with 10
men and 3 women working
together 8 hours a day?

afs 4 &% = 6 Hieand 7 e wfed
w9 FEE TF wH F 12 &G A g
FFFEI E, A 10 T qun 3 wieemd
e 8 e ufdfea &M 3 A F:M
#F fore fedl d wora 10?2

(b) 7 days

(d) 10 days

If x men can do a piece of work
in x days then the number of
days in which y men can do
the same work is

afe x =afa fedl &M & x fEl W &
TFd €, 3U FW F y At s faE
H [ FE?

(a) 6 days
(c) 8 days

(a) ydays  (b) £ " days

2

© 5

A contractor undertook to
finish a work in 92 days and
employed 110 men. After 48
days, he found that he had

(d) ¥’y days

days

already done % part of the work,

the number of men he can

withdraw so that his Work may _

still be fimshed in time 1s

qaﬁéa%m'{sazﬁmnmamqm

FH F IF o § 3t a8

A =Y ST T AT B ﬁﬁ
L™

~ L
o8 T € fr s 3\_@m=m@m

FT ﬁm 2, o T B T
ﬁ%ﬁ(—@;aﬂ FHM W H B

m %? x.

(a) 45 (b) 40

() 35 (d) 30

A man undertakes to do a cer-

tain work in 150 days. He em-

ploys 200 men. He finds that only

a quarter of the work is done in

50 days. The number of addi-

tional men that should be ap-

pointed so that the whole work
will be finished in time is:

128.

129

wF AfF fedt Fm w1 150 &= o q@
FA FIF A € IR WE faw qw
200 =i =i F19 9T & 1 50 f
+ 91 9% Uil & fF Faa v A wm
&1 9 ®, A W9 W g0 e & o
fpa wifafaa @i 1 Fm W AT
gz

(@) 75 (b) 100

(c) 125 (d) 50

A contractor undertook to fin-
ish a certain work in 124 days

and employed 120 men. After
64 days, he found that he had

—g of the work.
How many men can be dis-
charged now so that the work
may finish in time?

T IFR fHdl =0 w124 fe o
A F S Tl ¢ oA 5 HH P

already done

131.

132.

\

ey

fam =@ lgommmmm%wﬁé
§ \g:;»»é

64 Tl & w1 <& 91 & TR

P
FW Q@ T T, mwm\%ﬁ%ﬁ
wamm%ﬁyﬁm%m

ERCicr or’/
(a) 48 z’@;s
(c) 40 A »(ﬁ] 50

'[‘wo 1'ner1~ c do a piece of work
n £/day ays. But y women can do
ghad;\ui 3 days. Then the ratio

r-k%&ﬁ,;he work done by 1 man and

PR . 5 ?
{ (b woman is

%
3
o..\l

130.

<t gFa Tt = & x 5 A @
¥, WifFa y wfeemd 34t = & 3 A o
T G E, @ 1 7 99 1 "ieen
FIH FH FIIE TG FL

ja) 3y : 2x (b) 2x: 3y

c) x:y (d) 2y : 3x

A farmer can plough a field
working 6 hours per day in 18
days. The farmer has to work

how many hours per day to fin-
ish the same work in 12 days?

T+ fFEE 6 W2 wfakA wW w1 W
Fd =1 18 fadi A ia " &, @ s
FH F 12 4 § wo w1 F fau
fram it feed =2 wfafes =@ &
T2m?

ja) 7 hrs
[c) 11 hrs

(b) 9 hrs
(d) 13 hrs

133

134.
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15 men take 20 days to complete
a job working 8 hours a day. The
number of hours a day should 20
men take to complete the job in
12 days:

15 =t 8 =2 wfaf #m #=%% 20
fefl # U F™ Q@ w A 2, @ 20
e e 52 wfafe e w3 12 fe
H HH YA H7

(@) 5 hours (b) 10 hours

(c) 15 hours (d) 18 hours

How many men need to be em-
ployed to compl e the whole job
in 5 days, in,}é:nen can com-
plete = ?gﬁﬁ‘e job 1n 7 days?

ﬁSﬁmnww%ﬁq
T+ e e, afg 15 @im

4 a7 A W w87

(a) 20
(c) 45

(b) 21
(d) 63

If 12 carpenters working 6

hours a day can make 460
chairs in 240 days, then num-
ber of chairs made by 18 car-
penters in 360 days each work-
ing 8 hours a day

afz 12 92 6 =< yfafzd & w0
460 Ffdat 240 fad # a1 hd 2,
q1 18 @eg, 8 ®e ufafed =m w1
360 fel & faet wfdal aamdi?
(a) 1320 (b) 1380

(c) 1260 (d) 920

If 90 men can do a certain job
in 16 days, working 12 hours/
day, then the part of that work
which can be completed by 70
men in 24 days, working 8
hours/day 1s

4f5 90 =eHl wfafsd 12 =& wM &t
fortht =m F 16 fa §quFt wa €, @
70 it gam 8 = ufafa Fm w3
24 feq # 9 wm w1 faan feww q@
foFm w1 w2

2
@) b) 3

|

i
G

|-

(c)

|" 907
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135. A company employed 200 work-
ers to complete a certain work

th

in 150 days. If only % of the

work had been done in 50 days,
then in order to complete the
whole work 1in time, the num-
ber of additional workers to be
employed were:

TF w7 150 7 | ol =9 1 @
* & A 200 wFE =1 FgF wan
Afe 50 2 o Faa wF A4’ FW W
B B A R FW F A9 W W FAH
frm sfaftga Fmm e g2i?

(a) 100 (b) 600

(c) 300 (d) 200

If 20 women can lay a road of
length 100m in 10 days. 10
women can lay the same road
of length 50m in:

7fg 20 wfgemd 100 #. w«=t @5+ 10
feq & fae1 wanct € @ 10 wfzamd 50
i, oiell ggw e e 9§ far gehdl €7
(a) 5 days /f5A(b) 15 days /fF
(c) 10 days / &7 (d) 20 days / &

A contractor was engaged to

136.

137.
construct a road in 16 days. Af-
ter working for 12 days with 20
labours it was found that only
5/8 th of the road had been

constructed. To complete the

work in stipulated time the..

number of extra labours

quired are:
o S w16 A § g e aH
# fou frgw fen o TITr@’l &
19 12 Re wm weladlg 98 gar =el
fr Faa Y wew g ™ @ Frffa
a H mw%uﬂfg# form forar sifafiaa
oy H anft?
(a) 16 (b) 12
(c) 10 (d) 18

YEAR : 2006
A and B can do a piece of work
in 18 and 24 days respectively.
They worked together for 8
days and then A left. The re-

maining work was finished by
B in:

138.

908 |

2™\

139.

140.

A 3 B fad #m =1 wuw: 18 &
e 24 A # g F gd 81 5= 8
A 7% Wy w7 e SEE AR A A
#m B fema @ gan #m B fead
feai ® swom?

(a) 5 days (b) 5% days

(c) 8 days (d) 10 days

A, B and C can complete a piece
of work in 10,12 and 15 days
respectively, They started the
work together. But A left the
work before 5 days of its comple-
tion. B also left the work 2 days
after A left. In how many days
was the work completed?
ABdenr C wh #19 ® FA9: 10,12
A 15 fll § U R w7 SR uw
WY HH K ARG fF A FH T
TS5 R e FH I AWM A AD
HH BIEA + 2 feT 9€ B sﬂmmem"’:
T wm R R A e dme AL

(a) 4 days (b) 5 days {;g

[c) 7 days (d) 8 dz A s, .;,\
A can complete a ‘picee’ pf Work

in 10 days, B 15 fihys and C
n 20 days,«;ﬁ"::@ C worked to-
gether fo ‘%wh mﬂays and then A
was replgcgkﬁ:)y B. In how many
daffrf%ltogetth work was
Qﬁmpleted ?

}

AT FW F 10 A WB 15 i 8 qer

COe20 i d o gam 41 Al CY @

%
7

141.

e 2 ol 9 M 5 36% 9| A Fi
e B Fm F a@m @ s e
F grm?

(a) 12 days  (b) 10 days

[c) 6 days (d) 8 days
AandBcandoajobin 6 and 12
days respectively. They began
the work together but A leaves
after 3 days. Then the total num-
ber of days need for the comple-
tion of the work is:

A den B UF W F FH: 6 T qen
12 f&i # =2 w64 21 32 T 99 =W
& f7 offd 3 & 915 A9 & 28
e =m = =W w9 W F & #
EvaFa B2
(a) 4 days
[c) 6 days

(b) S days
(d) 9 days
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144.

YEAR: 2007

142.A and B can together finish a

work in 30 days. They worked
together for 20 days and then B
left. and A finished the remain-
ing work in 20 days so, A can
finish whole work in.

AR BUs @9 &M & 30 & A
w TH Fd &1 9 20 & 9% |
FH 3 € 3UF 4 B %M 3 4l 2
oM A eThen ¥W Em R 20 A A
TS F & ot A gy H e o o
Eaul fﬁ

(a) S0 deg o {-gi 60 days

[c] 48 d.qyg,g (d) 54 days

143.A canj[‘ﬁlsh a piece of work in

7

o 2‘4\dﬁys B in 9 days and C in
\@12 days B and C start the work
but are forced to leave after 3
days. The remaining work was
done by A in :

A, Baw C e @ =t w24 57,
9 fat qem 12 A H X wHA € B W
C w9 HH F A w €, olfEA 3
fam a1 & Fm Bg 37 & 9w w=m A frad
et & qu Fwm?

(a) S days (b) 6 days

(c) 10 days (d) 10; days

A and B can do a piece of work
in 28 and 35 days respectively.
They began to work together
but A leaves after sometime
and B completed remaining
work in 17 days. After how
many days did A leave ?

A 3R B fwelt %m &1 s 28 T qon
35 fdll § Fd €1 TF WY FwE B
TE W ¢ olfed %9 il & g9 A
FM B 0 ¢ ¥R B YW wm 17 &
¥ w8, dl A TR i & Al
FM BE ei?

(a) 14§ days (b) 9 days

(c) 8 days (d) 7% days
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A and B can do a piece of work
in 45 days and 40 days respec-
tively. They began the work to-
gether but A left after some
days and B completed the re-
maining work in 23 days. After
how many days of work did A
leave?

A 3R B foet % #1 w45 o o
40 i § = wwa & 5= ey Fwel
FE 9E fFmeife A %5 fEl & wum
M IS ¥ T AN I FwE B, 23 fAi §
T F 8, A A fra & % v w
BiEr ar?

(a) 10 days
(c) 8 days

(b) 9 days

(d) 5 days

A man and a boy can complete
a piece of work together in 24
days. If for the last six days boy
alone does the work then it is
completed in 28 days. How long
the man will take to complete
the work alone ?

1 7&W 39 1 wrgs fier fH wm =
24 fei & wara FX T 21 AR wfaw
6 fedl ¥ Faa T FW F @A, @
%1 28 Al § wmr 81 < €, o gEw
el =M ® foad & F wime?

(a) 72 days  (b) 20 days

(c) 24 days  (d) 36 days

A and B can separately com-

plete a piece of work in 20 days
and 30 days respectively. They

worked together for some time,

then B left the work. If A C(?i \
pleted the rest of the Wo,nk dns
10 days, then B wor‘ked{fm\ 3

A #rB fﬂﬁmmﬁwgoﬁm
atmso feqi & wen lﬁmm
a‘:ﬁawma ﬁ‘r}%maﬁB

%u#&m ¥ 99 FW 10
ﬁmnw’} Bt BY frat B a
T fwan? ‘

(a) 6 days (b) 8 days

(c) 12 days (d) 16 days

A and B alone can complete a
piece of work in 9 days and 18
days respectively. They worked
together, however, 3 days be-
fore the completion of the work
A left. In how many days was
the work completed?

149.

L5k

AT B et wm &1 e 9 e den
18 Tl # TR wd ¥ A W wH F
tdfe wm e R # 3 K7 A
FW B B, q & e R § wer
i

ja) 13 days (b) 8 days

(c) 6 days (d) S days

A and B can do a piece of work
in 12 days and 15 days respec-
tively. They began to work to-
gether but A left after 4 days.
In how many more days would
B alone complete the remain-
ing work ?

ATy B & ®@ F Faw: 12 @
Ao 15 A § w5 waa €1 sl fre
FH FA I fF ofeT 4 59 % 917
AFM BT 3@ % , @ B Y9 ®W #
foree feai o =rem wom?

(a) 23—0 days (b) %5~ days

(c) 6 days (d) 5 days st
A can complete a piece o

in 18 days, B comp etes 4,:1 20
days and C in 30 s}Bé{"ndC
together started the..afwdé;'k and
gsfaf r 2 days. The

forced to lea
time takend ﬁ alone to com-

plete thﬁ” L?ma_nung work is
A, B’Jﬁrg fefdt wm =1 Faw: 18 i,
20 30 i 7 #2 W 1 B AR

r\Gngﬁm%aﬁﬂ 2f =

Y

C (AR 3% =™ 3ieT vsa £, @ 99 =9

\
-

151.

# A siwel fead fedi § wm?

(a) 10 days  (b) 12 days

(c) 15 days  (d) 16 days

A alone can complete a piece
of work in 18 days and B alone
in 15 days, B alone worked at it
for 10 days and then left the
work, In how many more days,
will A alone complete the re-
maining work ?

A 3 B fwell @ #1 siket w99 18
fedi qen 15 feAl o ¢ v €1 B st
10 Tl 9% &1 F3a1 € 3R FW BE
W R, ° w T I F A o e
femi & wrm?

(a) 5 days (b) 5% days

[c) 6 days (d) 8 days
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153.

y:
2"., WJ

155

152.A can do a piece of work in 12

days. When he had worked for
3 days. B joined him. If they
complete the work in 3 more
days, in how many days can B
alone finish the work ?

A o % 1 12 fell 9 T 5 813
fa A el FM F@ T 3HH 9K B ot
HW H Wi &1 W E a3 o KA H 4

T T F I T B 2Ed w5 F R
fet % wm?

(a) 6 days (b) 12 days

(c) 4 days (d! 8 days

45 men carllﬁmplete a piece
of work 1 s. Four days
after the}égt\émt%d working, 36

more méﬂ +joined them. How

many, @ys will they take to

e comp]§f.e the remaining work?
4 vt forelt = A 16 fel § W

O ot w7 3w e w0 B4
F qy= 36 Mt 3 31 WW 2, @ ==
g F e A F mOa & wmom?
(a) 6 days (b) 8 days

(c) 6% days (d) 7% days

154.A and B together can complete

a piece of work in 3 days. They
start together. But, after 2 days,
B left the work, If the work is
completed after 2 next days. B
alone could do the work in

A B faers fadt &m 1 3 A A
T L TG &1 SHl faest M e
FW € A 2 Al # W% B W 9 &
Bl 4f% w1 e 2 T o a6 S €,

I B #rel fbad Tl 4 o @ s
(@) 10 days  (b) 4 days
(c) 6 days (d) 8 days

A can do a piece of work in 20
days and B in 30 days. They work
together for 7 days and then both

leave the work. Then C alone fin-
ishes the remaining work m 10
days. In how many days will C
finish the full worlk ?

A e B fast wm &1 swAw: 20 faof qen
30 f&i # e FX wFA 1 A 7 A
TF THHY FH FW §) 2R A FW B
&4 ¥ 99w F C 10 el § gu e
2,4 T Fm C frad i o v =
(a) 25 days  (b) 30 days

(c) 24 days  (d) 20 days

|" 909
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156. A and B together can complete a

157.

158.

job in 8 days. Both B and C,
working alone can finish the
same job in 12 days, A and B com-
mence work on the job, and work
for 4 days, where upon A leaves,
B continues for 2 more days, and
then he leaves too, C now starts
working, and finishes the job.
How many days will C require to
finish the remaining work?

A 7 B fao= feelt =m =1 8 i o
o X qEA 21 B aen C 3 e
aferT-3re 12 el & wora 1 g §)
A7 B, 4 i o% Wy 9 F@ ¥
IES v A FH o 3@ €, B, 2 A
& HW FE ® WS 9" @ ot wW
Bg 3@ 81 FE C FW FA Y& F1 &
3 FW F T F4 2, 7 C e fA
Y HH BIEH H?

(a) 5 days (b) 8 days

(c) 3 days (d) 4 days

A and B can together finish a
piece of work in 30 days . They
worked on it for 20 days and then
B left. The remaining work was
done by A alone in 20 days. A
alone can finish the work in

A 7 B foeras u# ®m &1 30 feAf o
T F FEA &, 3 20 Al 7w e wm
FW 2, 39F 915 B M 91 31 21 ¥
FM F1 A Fd 20 T § 0 @ €,
at A s fred f&el F =m0 g wem?
(a) 60 days  (b) 54 days

(c) 48 days  (d) S5O days

159

160.

Y70

A, BandCcando ajOb in6 da - ’.-'...,"

12  days

and

: 1M
respectively. After J{dof“’ﬂle

work 1s complet C"‘leaves the
job. Rest of tlﬁﬂ?m done by
A and B togéther; Time taken
to finish the re maining work is
A, B @ Coah % 51 w59 6 fdl,
12 fiil qen 15 ol F 7 w0 w2
1

3 W T B W C FM B W E

I %™ A 991 B YU FW €, @ 99 W
= B8F o fRaT wug e 7

5 1
(a) g days (b) 55 days
1 3
(c) 35 days (d) 37 days
910 ||
info@spardha.guru

\ o
15 days.

162.

YEAR : 2008

16 women take 12 days to com-
plete a work which can be com-
pleted by 12 men in 8 days. 16
men started working and after
3 days 10 men left and 4 women
joined them. How many days
will they take to complete the
remaining work?

16 wfeant freft @ #1 12 & & @
T THA % SRR S wm R 12 7E
8 fei A yu w¢ wHd #1 16 7B wH
FE TE FW & A 3 A # am 10
TET HH BIE <0 & AR 3T A 4
Afgerd &1 Sl 2, dl 99w fma A

1 qm =m?
(a) 4 days (b) 6 days
(c) 8 days (d) 10 days

40 men can complete a piece
of work in 18 days. Eight days

after they started working toi’f‘

gether, 10 more men JO edﬂ;
them. How many days t

now take to complete tbb"’ére—
maining work ? f‘{“\" V&)

40 y&y fepet F # wH

FUFA 2 #yE wE F 8 faA

3?311-:10 A §% o W €, A o 9
h'wg AT B W

(a) 6{?. days (b) 8 days

é:}O days (d) 12 days

men can do a piece of work
They worked to-
gether for 3 days, then 5 men
joined. In how many days is the
remaining work completed?
20 eneHr forddt wm1 @ 18 fadl § #¢
g €1 A 3 Tl @ wer wm oww E
T 5 ot & o 9 €, @ FW e
fere feml ® wwma @1 s

(a) 12 days  (b) 14 days

(c) 13 days (d) 15 days

A, B and C can complete a

in 18 days.

piece of work in 10, 12 and 15
days respectively. A left the
work 5 days before the work
was completed and B left 2days
after A had left. Number of
days required to complete the
whole work was:

Copyright © All Rights Reserved | https://spardha.guru/

A, B 3R C et %m = w9 10, 12
st 15 & 90 = Wt § A FW
R A 5 A vee wW B fa sk
BAA® &M B & 2 7 ar &m sig
e e =/ @ w1 & o faras feal
FI STEvAFHT B2

(a) 8% days (b) 6 days

(c) 6% days (d) 7 days

163. A and B together can do a piece

of work in 12 days which B and
C together ﬁ%% 16 days.If A
works fa, s, B works for 7
da;{‘s twhqn,C completes the re-

malm‘l}g&work in 13 days. In

G hmeuch time B alone does

e kae whole work.

A 2R B fuert fandt M 1 12 fi
1 B #R C fyemm 3¢t %M 1 16 &
H#@ 2 sm AS T sm a2, B7
fe =m w2 € @ 9w %m C 13 fef o
T Tl 3, Al B ahe 90 FW fhad
Al o =\ Fm?

(a) 48 days  (b) 24 days

(c) 16 days  (d) 12 days

164. A and B together can do a piece

of work in 30 days, B and C to-
gether can do it in 20 days, A
starts the work and works on it
for 5 days, then B takes up and
work for 15 days. Finally C fin-
ishes the work in 18 days. The
number of days in which C
alone can do the work where do-
ing it separately is:

A7 B et fmdl %M =+ 30 & |
% Had €1 B #R C gl %M @ 20
el A e w= wEa €1 A wW oY
A & 3R 5 T a% ww R g,
B, 15 f&Ai @& &M F%@ & v & §
C, 18 fadi # &m W e 21 @ C
TFe fraa fe & = wmr wom?
(@) 120 days (b) 40 days

(c) 60 days  (d) 24 days
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165.

166.

167.

168
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P and Q together can do a job in
6 days. Q and R can finish the
same job in 60/7 days. P started
the work and worked for 3 days.
Q and R continued for 6 days to
finish the work. Then the dif-
ference of days in which R and
P can complete the job alone is

P 4R Q face vk #1@ =1 6 & § &
TFd 21 Q 2 Rt =l =1 60/7 fi
T F F uFd 81 e P g 6 o
fedii @ Fm fFn fF Q 3R R, &M &I
T F AU 6 BH 0w v
W@ R &R P 3R 59 %@ # w0 H
o i =1 siow gmm?

(a) 10 days (b) 8 days

(c) 12 days  (d) 15 days

If the expenditure of gas on burn-
g 6 bummers for 6 hours a day for
8 days 1s * 450, then how many

burners can be used for 10 days
at 5 hours a day for* 625 ?

6 a1 FI 6 2 7% 8 faAl = fodt e
1 & 450 B A1 625 ¥ 5 52 whafe
10 feaf # fed fead o S =
A 87

(a) 12 (b) 16

(c) 4 (d) 8

X can do a piece of work in 24
days. When he had worked for
4 days, Y joined him. If com-
plete work was finished 1in 16
days, Y can alone finish that
work in:

X fest 9wt 24 7 F @
21 59 361 4 7 %W L o qa
I6F g wite 8@ T A g
lefadgme ™, @Y aﬁa?m
I fore fed o @ o7

(a) 27 days/f&, {lﬂ]ﬁé days /5=
(c) 42 d\(?fmté] 18 days/fx
::2009

w’

. Working efficiencies of P and Q

for completing a piece of work
are in the ratio 3 : 4. The num-
ber of days to be taken by them
to complete the work will be in
the ratio

UF FE ®l GG HH F ol Padr Q
#t wEE w1 e 3 : 4%, a &
& T wE o gE % g fod
fedl 1 U@ em?

169.

170.

171.

L%

.\l

L2

ja) 3:2 (b)2:3

() 3:4 (d)4:3

A is thrice as good a workman
as B, therefore he able to finish
a piece of work mn 60 days less
than B. The time (in days) in
which they can do it together is:

A Ft FE ear B #1 #1d aman w4
T 2 THfe 98 ©F FW 1 B 1 gen
4 60 fed 9 & ®dl 21 afE 9 <H uh
o FH FL, 91 fFad G4 = =em
gm?

(a) 22 days (b) 22% days

(c) 23 days (d) 93% days

A, B and C completed a work
costing * 1,800. A worked for 6
days, B for 4 days and C for 9

days. If their daily wages are
6 -4, houyfa?'# A does 20% less work than B. If

in the ratio of 5 :

173.

(@) 14 days  (b) 13 days

(c) 20 days  (d) 15 days

To do a certain work, B would
take time thrice as long as A
and C together and C twice as
long as A and B together. The
three men together complete
the work in 10 days. The time
taken by A to complete the
work separately is

A 3 C foes wF Fm #1 e
T ¥ TH #W ¢ B 3EF d9
mqmﬁmm%‘amﬁx
&t B faoe frad wyg o

F@ & C A T W wH
e i frerst &M #: 10
el m“w “w €, @ A w
foe TN AT w2
O™ 22days  (b) 24 days

% 30 days (d) 20 days

much amount w111 be rfjfiv@ Mé

by A?
A,BaamC#" 18003?1@37?&%

PﬁnlA#ﬁﬁﬂW Baﬂﬁq
wM fEa g C 49 f&mmﬁ‘
W%WWS 6:4
%mAmﬁmwf’maﬂ?
(a) * 80(}:” '+ (b) * 600
ECJ(ﬁQ@l (d) * 750

A takes tw10e as much time as
\ﬁ ﬁ;ﬂd thrice as much as C to
mplete a piece of work. They
together complete the work in 1
day. in what time, will A alone
complete the work.
A fodt #m =t B &1 gon § S 5
T g C %t g ¥ T\ 99g o Far
%1 g foere w=m 1 A Fw
%, @ A aben 39 %W H fead R A
F4M?
(a) 9 days (b) 5 days
(c) 6 days (d) 4 days
A is thrice as good a workman
as B and therefore is able to
finish a job in 40 days less than
B. Working together, they can
do it in
A % FrleEa B & fapd & safeg o
fepedit =8 1 B w1 gor o 40 feF weer
B FL A1 €, a S HeR F
fopa feml ® wwra w7

175.
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A can complete a piece of work

. 1 .o
mn 75 hours, then B can do it in
A, B # 20% 59 519 4@ 21 A% A

et M # 7% 2§ TETd w8,

af B feaa =5 ¥ M 9 som?

(a) Gé hours (b) 6 hours

(d) 5 hours

(c) 5% hours

Sunil completes a piece of work
in 4 days, whereas Dinesh com-
pletes the work in 6 days.

1
Ramesh does the work 15

times as fast as Sunil does. The
three together can complete
the work in

gt ww Fm 4 A qu w gea
Safe feAwr 6 o o &M @ X 9Fa
#1 w1 T 2,
df ol fAerRt fead Tl H wm U
FHEA?

(a) 1 5 days (b) lg days
(c) l% days (d) 1% days
| 911

www.spardha.guru



176.

177,

178.

179.

YEAR: 2010

A takes three times as long as
B and C together to do a job. B
takes four times as long as A
and C together to do the work.
If all the working
together can complete the job
in 24 days, then the number of
days, A alone will take to finish
the job is

A f&gt =M %1 Bag C &1 gamn ¥ o9
T § W R @ B v wm A A
q C B qer | SR O O'RE ¥ qU
F 21 afz 9 W Fm o E 9w
24 oAl § qu 8 W 7, @ A S wW
I fare wwa | qu Hom?

(a) 100 (b) 96

(c) 95 (d) 90

A man 1s twice as fast as a
woman and a woman is twice
as fast as a boy in doing a work.
If all of them, a man, a woman
and a boy can finish the work
in 7 days, A boy will do it alone?
TF TEY H wEdgwal UH Afeen Hi
Frigma F1 3 & qen v wfeen
FTHAHA T =9 1 HEASHAT HI & A
g1 A% 1 gew 1 #feen @@ 1 s
oot fFd @ w1 7 A 7 o=
H%d &, 9l % oigwl Al pad fed |
FH @ FLM 7

(a) 49 (b) 7

(c) 6 (d) 42

A’s 2 days work is equal to B's 3

three,

180.

181.

182.

(a) 44
(c) 22

If a man earns

(b) 33

(d) 11

* 2000 for his
first 50 hours of work in a week
and is then paid one and one
halt times his regular hourly
rate for additional hours, then
the additional hours must he
work to make * 2300 in a week
18

afg =g =fed gare H qecd 50 5 &
wW % feom '2000/- Fwm@r & &
wfafaa a9a % fou s9s fafm <
g 27 T e fEm oW 2, @
awie # ' 2300/- ®#9H & fow 9
fran atfafm =2 &m =0 92m?
(a) 6 hours (b) 7 hours

c) 4 hours (d) 5 hours

A can do half of a piece of work
in 1 day, whereas B can do full.

184.

s.\-w\

.
%

B can do half the work as C{lﬂf <

1 day. The ratio of t]:leij;@fﬁ?r 3

ciencies of work is
A@ﬁ?ﬁwmaaﬂmw‘fm
Tl 2, WB@Wﬁwﬁm
7 T O A £ w A
meﬂﬁﬂmélmq
@) 1: 2“-@ b)2:1:4
%21 (d2:4:1

f can do three times the work

r id:ﬁ“ﬁe by B in one day. They to-
~ J

days work. If A can complete the~,

work in 8 days, then to c©
plete the work B will takes. ./

A® 2fH %1 5 B 3 \%“ﬁrﬁhﬂ
Eﬁw%mﬁAmﬁéjﬁm*ﬁm
X GFA &, @1 B mﬁmﬁﬁmﬁ

T FW A
tb’]) 12 days

(a) 15 day
(c) 16 5%~ 9d) 14 days

If A, B and C can complete a
piece of work in 6 days. If A can
work twice faster than B and
thrice faster than C, than the
number of days C alone can
complete the work is :

7fs A, B @1 C fodft =™ =1 6 &1 o
F@ E A F wrlama Bt S F #
#fR C 1 &1 T &, @ C kel F H
v i & = wom?

912 |
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183.

2
= of the work m

9 days. The number of days by
which B can do the work alone
are:

Ats 7 9 BE @9 70 &6 w wE@

gether finish

5 2
13 M et o FH w1 o Am 9
el # g w €1 B a@e 39 74
fored fom o ¢ wwar 22
(a) 120 days (b) 100 days
[c) 30 days  (d) 90 days
The average wages of 500
workers were found to be
200. Later on , it was discov-
ered that the wages of two
workers were misread as 180

and 20 instead of 80 and 220.
The correct average wages are:

185.

186.

Copyright © All Rights Reserved | https://spardha.guru/

500 gl 1 ArEd &7 200 A |
8 9l el o 2wy 1 S0 et |
80 Wen 220 % wEel 180 wer 20 wig
form T g wE Srea daF T9 w6

(a) * 200.10 (b) * 200.20
(c) * 200.50 (d) *201.00
YEAR: 2011

A can do a certain work in the

same time in which B and C

together can do it. If A and B

together could do it in 10 days

and C alone in 50 days, then B

alone could do _Je work in

B iR C &t foa fet

ﬁ T E ﬂ@tﬁ A Sﬁﬁﬁ 3 FH

35 E IU ﬁ?ﬁ H ® HHd € 3R
:@ I wM & 50 fxA A W

%’ a B ahat 39 9 FI fwa
H FHm?

(a) 15 days  (b) 20 days

(c) 25 days  (d) 30 days

A can write 75 pages in 25hrs.

A and B together can write 135

pages in 27 hrs. In what time

can B write 42 pages ?

A 2592 § 75y form W 21 A

3 B g ey 27 % § 135 g2

fora g#d €41 B,42 g T wma |

ferem?

(@) 17 hrs (b) 19hrs

() 21 hrs (d) 23hrs

A and B can complete a piece

of work in 12 and 18 days re-

spectively. A begins to do the

work and they work alterna-

tively one at a time for one day

each.The whole work will be

completed in

A 3R B iRt W # w12 791 18

foit # X TR A FH FE YE B

? iR 3 W § uH-uw A wm

FW A g0 w=m fea A o we 2

(@) 145 days (b) 155 days

(c) 165 days (d) 183 days

www.spardha.guru



187.

188.

189.

190.
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A labourer was appointed by a
contractor on the condition he
would be paid * 75 for each day
of his work but would be, fined
at the rate of * 15 per day for
his absent. After 20 days, the
contractor paid the labourer *
1140. The number of days the
labourer absented from work was
TF 3FER 4 UF HAgL F W I W
FM R TE 6 G F0 0 &
foam 58 75 faci qen wAw sTafeem
feq & fed 3/ '15 9wt <1 g
20 fedi & " 3% A WL H
‘1140 g2 @t 3% foad 53 %@ =

aqufeer en?
(a) 3 days (b) 5 days
(c) 4 days (d) 2 days

40 men can complete a piece of
work in 40 days. They started
the work together. But at the
end of each 10th day, 5 men left
the job. The work would have
been completed in

40 wim Tt =@ #5140 & d =
gFd ¥ 3= TH Y FH FE IYE
feFam @ifsra weds 10 f59 % sfaue W 5
T g7

(a) 56% days (b) 53% days

(c) 52 days  (d) 50 days

A, B and C can do a piec?f”""@‘
)
i’

work in 20,30 and 60 days
spectively. In how man dey
can A do the work ifshe is' as-
sisted by Band C onxe‘(rery third
day?

A, B3t C @»}ﬁm 20, 30
a4l 60 ﬁa‘l}xmm%ﬂ 1 A foraa fei
H 1 @ 7-a'%?n*u'f% B aen C v et
1 M § SEE e H?

(a) 10 days (b) 12 days

(c) 15 days  (d) 20 days

A and B working separately can
do a piece of work in 9 and 12
days respectively. If they work
for a day alternately with A be-
ginning, the work would be
completed in

191

192.

A 3t B oot w1 W ge et
FH OFH FAM: O fGF qwr 12 9 H
TS F EqE B afz 3 ari-ad | 1
A w1 w0 § v A FW UE w1 E,
ar Fm fre &= # wmra e

(a) 10'2- days (b) 10-% days

1 1
(<) lOZ days [d]log days

.A can do a piece of work in 5

days less than the time taken
by B to do it. If both of them to-

gether take llé days, then the
time taken by B’ alone to do the
same work (in days) is

A et %@ i B %t gom 9 5 &3 wed
UG A WHA €1 AR GH W F

w=m ® e o A Fm? o
(a) 15 days  (b) 20 days {;§>

[c) 25 days  (d) ifaays )
A takes 10 days ess than the

time taken B to finish a
piece of w .'x_g'zfiaoth A and B
can do 1 f«m:‘l@ days, then the

time ’oy B alone to finish
the»fw
K"’m}r%m aﬁBTﬁgam §10 et el

r?“@{\ﬂﬁaﬂmglaﬁa‘m‘fﬁmm
~ V2 R T O FE 8l B s

193.

FM F fEad Gl § wua wom7

(a) 30 days  (b) 27 days

(c) 20 days (d) 25 days

A,B and C can do a piece of work
in 30,20 and 10 days respec-
tively. A is assisted by B on one
day and by C on the next day,

alternatively. How long would
the work take to finish?

A, B 9w C et = &t #791: 30,
20 @91 10 i & % ¥hd 81 B9 C
-Gt @ w=W § A ® HgEEdl S
T Fm fras o o o gme

(@) 95 days (b) 45 days

(c) 8 3 days (d) 3 3 days

194.

Dinesh and Rakesh are work-
ing on an Assignment, Dinesh
takes 6 hours to type 32 pages
on a computer, while Rakesh
takes 5 hours to type 40 pages.
How much time will they take
working together on two differ-
ent computers to type an as-
signment of 110 page ?

feder @i vhw fRdt ofEsT @ #m
= ® & R w6 W d 32
U 2T R § SF T 56 H 40
TS 29 Hl ¢ S fHewt 110 gt
=t afeEis T =5 - ST HEET W
o w2 S

(@) 7 hrs &B }n‘z;L

(b) 8 Ima;i,;”

(c)’ ‘8 hrs{ 15 min

©(d) @/hrs, 25 min.
lgwan do as muach work as B and

11— ﬁmﬁmmﬁ%’a‘erjﬁ

2"; WJ

196.
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A and B can
together do a piece of work in 9

C together can do .

hours 36 minutes and C can
do it in 48 hours. The time (in
hours) that B needs to do the
work alone, is:

B @it C fies fofen #m 6@ & A
I B FH OFT GFEA 21 A 2w B
TRt Tl @ 1 9 52 36 e #
T TOFA & R C =W F19 Fi 48 32
FGFA €, 9 B den foad 92 H wm
BH FM?

(@) 18 hrs (b) 24 hrs

(c) 30 hrs (d) 12 hrs

Three men A, B and C working
together can do a job in 6 hours
less time than A alone, in 1
hour less time than B alone
and in one half the time needed
by C when working alone. Then
A and B together can do the job in
A, B 9w C faersz fFdt &m0 =t A =1
g | 6 52 &0 a1 BE gan | 1
= %8 H #W g a1 C & gom §
oM ¥ 90 kW g, d A B
freee =@ e o o qu w92

hour

Wt

hour

(b)

wln

(&)

(€) 5 hour (d) 3 hour

| w
W

|" 913
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YEAR: 2012

197. 12 monkeys can eat 12 ba-

198.

199.

200.

nanas in 12 minutes. In how

many minutes can 4 monkeys
eat 4 bananas?

12 5= 12 %a 12 fade & @ wed &,
dl 4 9=t 4 sl foradl <0 § @ngi?
(@) 4 minutes(b) 10 minutes
(¢) 12 minutes (d) 8 minutes

Two workers A and B are en-
gaged to do a piece of work. A
working alone would take 8
hours more to complete the
work that when work
together. If B worked alone,

1
would take 45 hours more

than when working together.
The time required to finish the
work together is

< F A SR B fEd #m # w9 &
for @ T ¥ A ) Tt w w
FI gor § A FW QW FE H 8 H
s @il B %l et ™ & 6l
o | 37ehel FH FH H 4%;{2 #fy
% et Ak A e ® W w0 @
foRan w9 erm?

(b) 8 hours

(d) 6 hours

x can copy 80 pages in 20 hours,

(a) 5 hours

(c) 4 hours

x and y together can copy 135

pages in 27 hours. Then y can

copy 20 pages in e
x, 20 = ° 80 =i #t Fdf -

3, x g v faeR 27 @ 44363
1 Fh 3w Ay P 00 7
Ft F fFE g ¥ _"um &

(a) 20 hours 4 ]%?Fﬁhours

(c) 3 hour; X { ' 12 hours
Work don'é:"b}{‘:f;; + 4) men in (x
+ 5) days is equal to the work
done by (x — 3) men in (x +20)
days. Then the value of x 1s
(x+ 4) =afaaai g (x+ 5) & # feean
™ wH (x— 5) AfFAl g1 (x + 20)
fam A fru T o % R R, @ xw
HH SdE]
(a) 15
(c) 25

\ o

(b) 20
(d) 30

914 |
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201.

202.

203.

™
P

jx;l%i‘r’f"do a piece of work, working

A and B can separately finish
a piece of work in 20 days and
15 days respectively. They
worked together for 6 days, af-
ter which B was replaced by C.
If the work was finished in
next 4 days, then the number
of days in which C alone could
do the work is

A 3 B siem-siem fHe % & Fwe
20 f&= &K 15 & § g0 = gad &)
%M 6 fe e ®m fiFan iR 35
% B & T W C # @m g mm
R w9 e 4 BT F Q@ oA A

s C 3w 0 T Fa For §
Hehal 417

(a) 60 days (b) 40 days

(c) S50 days (d) 30 days

If 4 men and 6 women can

while 3 men and 7 women cans
complete it in 10 days, then 10
women complete it in } ol
af 4 gew s 6 afeerd, e @ 51
8 &1 # qu w g }{%Tﬁjﬁi% e
dr 7 afeemt W 108BF X W =
T &, @ 10 Afeet 5@ frad e
kR w? @4\\“}

(2)35 ddgs )™ (b) 50 daye

(c) % "'ﬁ s (d) 40 days

,{(;ﬁ’if;”gBh awna and Chandan

~ Liogether in one day only. Amit

%
7

1s 5 times efficient than
Bhawna and Chandan takes
half of the mumber of days taken

by Bhawna to do the same work.
What is the difference between

the number of days taken by
Amit and Chandan when they

work alone?

aifi, WA AR WA UF w1 H T
WY W FE F wF e oen # afia
are § 5 T afus wEe & S w=T
9a ga FwE F 90 HE H fam T
fedi A e fogq @ 1 eaf eiR ==
AN F H e wud w § fag
Tu e § e wm w?

(a) 4 () 5

2

(©)3 @ 23

204.

A, B and C can complete a work
in 10 days, 20 days and 30 days
respectively. They start work
together and work for 4 days.
After 4 days, A starts working
with double efficiency and C
starts working with half of his
efficiency. In how many days’
work will be completed?

A, B 3 C s %M =1 F8: 10, 20
it 30 feHi # g 2 wehd €1 A OF 9
F 7E FW@ & AR AR B aw e T
714 A % 918, A 1% <O FHIer &
e F YE FE AR C T ameh
FAW F A FEGE T F T
w1 for el @

(@), 1. m.\\\fff,ﬁ'” (b) 4
©5 Y7 e

203?:‘\\_6&{{}1 do a piece of work in 12
complete a work in 8 days, , mi@éys and B in 20 days. If they

¥

.y
;»»;

206.
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together work on it for 5 days,
and remaining work is com-
pleted by C in 3 days, then in
how many days can C do the

same work alone?

Afest # #1 12 feAf § @i B 34t
0 &1 20 feAl § 2 wekar 81 Afk <A
et 5 fei o #d S A v wE C
B 3 feft & g fen s 21 sm: C
aFe 3H wE w1 T feA A g
FIM?

(@) 10 days  (b) 9 days
(c)12days (d) 15 days

A and B work together to com-
plete the rest of a job 1in 7 days.
However, 37/100 of the job was
already done. Also the work
done by A in S days 1s equal to
the work done by B in 4 days.
How many days would be re-
quired by the fastest worker to
complete the entire work?

A % B 9w & 7 & A gu s
% fom o Wy w14 w9 E1 TEE S
F1 37/100 91 98a & | & FH 1
Asm 5 & A fFen mn = B @ 4
il # fru e % wweR &1 gl s
= g = * o meE o9 w2 F T
FR & R e w2

(a) 20 (b) 25

(c) 30 (d) 10
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208.

209.

210.
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12 men can complete a work
in 90 days. 30 days after they
started work, 2 men left and 8
men joined. How many days
will it take to complete the
remaining work?

12 a1t et =l =t 90 fef & =
THd &1 FE URG 2R & 30 fe @ A
2 AEfE 3 F1d Be T iR g e
wifre 8 T v wE w1 W R o
fora e @i

(a)90 days  (b) 60 days
(c)40 days  (d) SO days
A group of workers can

complete a piece of work in 50
days, when they are working
individually. On the first day
one person works, on the
second day another person
joins him, on the third day one
more person joins them and
this process continues till the
work is completed. How many
approximate days are needed
to complete the work?

FHAME 1 TF GHE 9@ AfFTT F9
¥ FM w4 T @ 5 fFE w1 F 50
feeil & g R w81 gee & 1 st
wd wa ¢ An gE fA gmm e
Wit & ST €, dra R w eI et
it 2l € 3R s 9 1 g 7w
T8 WAl Tl Tl ¥ B R
o v T & e

(a)8 days/fa (b) 9 days/faa
(c) 10 days/fT (d) 11 days /T

211.

212

18 sEHt 1o 36 @ew 6 He ufafs
FH FF Th wE 24 G9 H S
TS T 24 oTEH qen 24 T et
9 =ie wfafa Fm F4F 6 B Fi o
fe o <im?
(a)9

(c) 6

(b) 10
(d) 8

YEAR : 2013

A and B undertake a piece of
work for Rs. 250. A alone can do
that work in 5 days and B alone
can do that work in 15 days. With
the help of C, they fimish the work
i 3 days. If every one gets paid
in proportion to work done by
them, the amount C will get is

A 3% B U& ®M # Rs. 250 § F0
#1 e o €1 A9 =W # o
5 fa 1 @ik B39 &M &I @l 15 fd

ﬂaﬂm%dcaﬁmﬁmaﬂi*}

215.

A fodt =m F1 18 & § # gl ¢
3T 12 a1 &m T ¢in 9w %™ B
7 8 f& # g fFem B st R FM H
T e & qu &2 ok an?

(a) 16 days/f7 (b) 24 days/f&A

(c) 35 days/f&3 (d) 28 days/fsA

A can do a work in 12 days
while B can do it in 15 days.
They undertake to complete it
together for Rs. 450. what will
be the share of A in this
amount of money?

AtF 4 H }2{%‘4 o 9 T qFl
%IWB?&‘I‘!S%Q‘{UWW
%’|aaﬁwmqﬁwm 450 #

m;}«*an TS BT wmm oH A
o m e’
ﬁ;(? 200  (b)' 240

¢ 250  (d)" 300

3ﬁ?q'ﬁf3ﬂﬁﬂﬁ‘l‘qﬁym ﬁ}lﬁ A and B can do a work in 8 days,

% I | s fer @,
feral i faerii?

(a)Rs. 50

Q:ﬁr

L) "-

) R 100

(c) Rs. 150 ERS "?00
.The rate 0§W g of A and B

are in bheNr_;ﬁ 10 of 2 : 3. The
numl (Qfﬂays taken by them
to &i‘n sh the work is in the

fﬁaﬂ'{Baﬁmaﬂﬁaﬁq2 3%
C g 4 &1 w9 o0 9w # m F9

-...\’

A can do a piece of work m,,éo »

days and B in 15 days Wft‘h‘}

help of C,they finish the e “werk
ny .aays C

;%ﬁ’re work?

T w

in 5 days. In how
alone can do t

A &g ®= W =i
ﬁ\%m%cﬁ

ﬁFBl?" [ T HHIG T oI

3 C sﬁﬁ?rl S0 wW # fea fm d
F4m?

(a) 5 days/f (b) 6 days/f&A

(c) 10 days/f&F (d) 12 days/f
18 men or 36 boys working 6
hours a day can plough a field
in 24 days. In how many days
will 24 men and 24 boys

working 9 hours a day plough
the same field?

213.

214.

¥ form o feaf &1 s @ E@me
(a)2:3 (b)4:9

(c)3:2 (d)9:4

A, B and C contract a work for
' 440. Together A and B do 9/
11 of the work. The share of C
should be;

A, B 3R C fagt ®m #1440 ¥
%1 SH od 21 A @R B faem 9/
11 97 9 30 &1 C %1 32 41 €A

=Mfen?

(@) 75 (b) 90

(c) 100 (d) 80

A can do a piece of work in 18

days. He worked at it for 12 days
and B finished the remaining
work in 8 days. B alone can do the
whole work in

217.
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B and C can do the same work
in 12 days. A, B and C together
can finish it in 6 days A and C
together will do it in:

A 3R B faea frd ®m 1 8 i #
0 X GHG €1 B ¥R C 36 F H
12 fd1 § %7 @#a €1 A, B @R C
e 3t w1 657 o 70w A
&l aaed 6 A 3 C e st & m
&t fFad fea o woma &2

(a] 4 days/T&A (b) 6 days/f&a

(c) 8 days/fEd (d) 12 days/fsA

A man can do a piece of work
in 30 hours . If he works with
his son then the same piece of
work 1s finished in 20 hours .
If the son works alone then he
can do the work in:

it =afE B w™ F 30 = H
FHA B AR T T [ B W i H
T F9 FL A FH 20 T H gU E A&
21 af% g3 srhen FW L A g€ FW
fore wma | qu e ?

(a) 60 hours/ 60 =2

(b) 50 hours/ 50 v

(c) 25 hours/ 25 =u2

(d) 10 hours/ 10 =w2

|" 915
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218.

219,

220.

John does 1/2 piece of work in
3 hours, Joe does 1/4 of the re-
maining work in 1 hour and
George finishes remaining
work in 5 hours .How long
would it have taken the three
working together to do the work?

! . -
srhﬁ?ﬁrzﬁrqa:E qm = 3 g o

aﬂm%,aﬁ‘mmamﬁ M 1 =
¥ e ¥ eir wisl vw ww 5 ouee §
g 3 | afk 3 9 e = Em
F H A ®E Fon 99 ¥ AW ©
ST ?

1 1
(a) 2= hours/ 2— =
7 7
1 1 .
(b) 3? hours/ 3? ours

8 C
(c) SE hours/3— =

11

8 8
(d) 2— hours/2— ¥
11 11

A does 2/5 of a work in 9 days .
Then B joined him and they
together completed the remain-
ing work in 6 days .
finish the whole work in

B alone can

A‘ﬁ?ﬂ?ﬂ?%qﬂﬁ9ﬁﬂﬁm%l

ﬁwsmm%aﬁ{azﬁfﬁﬂa—'{w
FM 6 77 § wAW # A B TEa B
wmmﬁmﬁﬁqﬂ@m
A

e
A

12 12
(a) 75 days/— T

g

(c) 10 davé'/]o et

(d) 18 days/18 &=

The daily wages of A and B re-
spectively are - 3.50 and
* 2.50. When A finishes a cer-
tain work, he gets a total wage
of * 63. When B does the same
work , he gets a total wage °

75. If both of them do it together
what is the cost of the work ?

‘h//‘

916 |
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221

222.

A 31 B 1 3 weigh 399 ® © 3.50
#R * 2.50 ¥ 9 A FIH TATK HL Tl
T T 5™ g1 63 ® "o # w9 § fyen
#1 5 B 3H % F Fidl & weigd &
w0 F ~ 75 fierd 81 afk A 3 = A
ot F1 F ®W FH A F=H F F A
A ?

(a) * 67.50 (b) * 27.50

(c) - 60.50  (d) - 70.50

A man does double the work
done by a boy in the same time.
The number of days that 3 men
and 4 boys will take to finish a

work which can be done by 10
men in 8 days i1s

% ffva 9 § TF A TF TS
T A wW w2 el Fwm o 10
st 8 f # g F@ € A 3 Ffe
3 ARH 71 4 TIgH U FH F fEE

224,

% fA | 7 9w v W 4 Afw
ot rf 1 8 &A1 A qu F g &1 8
=e wfafer w@ F g ww” G 7 W
wr #it gn w1 fom fras safsat #i
AEYTFaT BI?

(a) 8 (b) 4

(c) 7 (d) 9

35 persons are engaged to

complete a work in 60 days.
After 32 days it is observed that

2
only [g] th part{of the work has

“oad
been done./The number of
more per@ﬁns t6 be engaged to

comple LtI}_g remaining work

in i;he‘"SQnPF period is

ﬁ@mﬁmﬁoﬁﬁwmam
ﬁhﬁﬁﬁaﬁmm%l 32 fadff &

et o qu # e w";
¢ AP v e & S [gJaﬁ
3 o O
(a) 4 By & Qw AT E g0 w g €1 9w S
Q) safy # gu e # fau R s
230 St @ s i
(c) 16 @ 7250)
17 (a) 20 (b) 35
(c) 30 (d) 25

P cfeg;gr g\&Lﬂ th of work in 10

d;ayé;,_ﬁ;) can do 40% of work in

,_r;;w’ &
(A0 days and R can do 3)rd of
work in 13 days. Who will

w}

223.

complete the work first?
- - 1 \ e
P, 10 feaf & =l =1 z"cn q
i

w1 TERA 21 Q, 40 fa # = = 40%
qAT Y0 T GHAT 21 SR R, 13 A |

:"1 .
mmngmmqﬂaﬂm%l
TIH TESl %M 4% FE G B

(a) P (b) Q
[c)R (d) Both P and R
Working 7 hours in a day, 4

men can do a piece of work in
8 days. Working 8 hours in a
day, the required number of
men to perform the same work
in 4 days will be

225
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The time taken by 4 men to
complete a job is double the time
taken by 5 children to complete
the same job. Each man is twice
as fast as a woman. How long will
12 men 10 children and 8
women take to complete a job,
given that a child would finish
the job in 20 days.

5 d=di @l ﬁFﬁr FHE ® g0 FH F S
g o § S99 g 9Ha SH wE
I Q0w F 4 TEE F o E T

e AT e A e T A
H E 3W FE F P FA & fag 12
TS, 10 941 iR 8 wigensii i fham
e w6, A Te 7H o @Y U
e F8 F 20 A # qu s

(a] 4 Days/f&d (b) 2 Days/f&A
(c) 1 Days/f&T (d) 3 Days/f&A
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226.The labourers A, B, C were

227.

228.
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given a contract of * 750 for

doing a certain piece of work.

All the three together can
finish the work in 8 days. A and
C together can do 1t in 12 days,
while A and B together can do

1
it in 135 days. The money will

be divided in the ratio

W= affwi A, B, C % 3% W 750
w foe +=d = @ w9+ fau amm
T F g de foeet 3@ w e w8
fei & AT T WA €1 A 2R C gl
et 59 12 fff, # wafw A @i B
A foert T 13éﬁq>f d [
THd &1 UETdH H WH &1 FE SFIE
o faufsa fan smam?

(a)4:5:6 (b)4:7:5
(€)5:7:4 (d)5:6:8

A canal of a village can be
cleaned by 24 wvillagers in 12
days. The number of days in

which 36 villagers can clean
the canal 1s?

et i w1 Tev 24 gEifEE g 12
faa § WrF F1 5 TFHA 21 FAET 39 T2
Fl 36 UHETH! fhad &7 H |w H37?
(a) 18 (b) 8

() 72 (d) 16

Ramesh and Rahman can do a
work in 20 and 25 daj
respectively.  After dot 1w‘;

collectively 10 days of wo ﬂ}ey

leave the work due to gﬁ s'and
Suresh completes Test of the

work in 3 days. Eﬁ(“fhany days

Suresh alonﬁbr afi take to

complet e whole work?
o, A s 20 3

25ﬁqqan5m%|?ﬂ=hﬁqw 10 f&

T F W E AR ITF 9] 3 UK 92

W % HRO FE DS 3 8@ 9 FH g

3 fe H 9 wE ) SR g Sl 39

o™ %W = fF G § e

(a) 32 days/32 7

(b) 28 days/ 28 &&=

(c)29 days/ 29 &7

(d) 30 day/30 f&7

g,

229.A can do as much work in 4 232.A Band C can complete a work

230.

L

days as B can do in 5, and B
can do as much work in 6 days
as C in 7 days. In what time
will C do a piece of work which
A can do in a week?

A g s 4 fa7 § o1 &, B 98t #3M
5f= § 5 £ o B %W 6 fai §
w1, Cad wW 7 R § & 2
TAEY FE FE S A TF TR H R
%,%Cﬁmﬁﬁ?ﬁwaﬁm?

fea

@) 1057 5

days/lO2
4 4
(b) 4§day/4gf§?

(c) 6 days/ﬁ

15

6
days/121 e

9

A can do a piece of work 1
days and Bcando itin 12
They work together for‘

Then B leaves a ]
continues. 2 days tHat C
JOlﬂS and the work {‘é,i:o pleted

in 2 days. I many days
can C do if, 11 'h€ works alone?

Awr iqﬁﬁﬂm%oﬂ?Baﬁt
mfwﬁﬁ“ﬁ‘m%uaaﬁrﬁ:ws
ﬁqm%‘waﬁsmm
S A el FM Fa B B

(d) 12

(9% 2 T 9% CFM W &1 9 € 3R

‘\,

231.

2 faq & =m g @ S 21 3K C e
FH FL @ 9€ FH F fwad 95 @
FL L

(a) 30 days/30 f&F

(b) 50 days/50 f&

(c) 40 days/40 f&7

(d) 60 days/60 f&t

The ratio of the amount of work
done by (x - 1) labours in (x +1)
days and (x+1) labours in (x+2)
days 1s 5 : 6. Then the value of
5 A

(x-1) gfai 3@ (c+1) &7 o fFw o
w4 w1 AR (erl) gfawl 3@ (c+2)
fe & fohe ¢ w1 #1 HIE 5: 6 7,
A X FH A AR

(a) 16 (b) 15

(c) 17 (d) 14

233.

234.
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in 20, 24 and 30 days respec-
tively. All of them starts to-
gether but after 4 days A leaves
the job and B left the job 6 days
before the work was completed.
C completed the remaining
work alone. In how many days
was the total work completed?
A, B @en C fdt =1 =t wmen 20,
24 qa1 30 &l # g0 X wHa €1 A A
frerrt & =1 o fr g 4 fa =
Qe A S % =l Big 2 a9 B A wd
W F 6 @ F Big fem C
3 ¥ i 7 v A
T n\mﬁﬁ o B2
(a) 10 .. @3’1‘&2 (c) 14 (d) 16
S T and»U can complete a work
48 and 60 days respec-
y. They received Rs. 10800

e,
\ complete the work. They be-

gin the work together but T left
2 days before the completion of
the work and U left 5 days be-
fore the completion of the work.
S has completed the remaining
work alone. What is the share
of S (in Rs.) from total money?
S, T aw U usw & #w991: 40, 48 a2
0fAdquaR dIiFgd R WA B
e 3% 10800 =. faew €1 3= Fd
F UH W Ry fEw, 9g T w7 9w
TR 2 A ged awr U QU 8 9
5 fam weet FT 1 DR e = 2
S 919 w1 = shen gof s 21 Fuifa
o F ¥ S W (% H) feam €2

(a) 4000 (b) 4320

(c) 4500 (d) 4860

Raman can do a work in 5 days,
Jatin can do the same work in
7 days and Sachin can do the
same work in 9 days. If they can
do the same work together and
they are paid Rs 2860, then what
i1s the share (in Rs) of Raman?

T T FE & 5 &7 # wEa ), S
36w w7 G F & g € o
ofe st F1 #1 9 & § ¢ g 21
7% 9% SH F F WY § w6 ¢ HEE
forn 3% 2860 ® fiu oW &, 9 W @
femm (5 o) fwam wm ?

(a) 1260 (b) 700

(c) 900 (d) 870

|" 917
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235.A is 1.5 times efficient than B 239.10 Women can do a piece of

236.

237.

238.

918
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therefore takes 8 days less
than B to complete a work, If A
and B work on alternate days
and A works on first day, then
in how many days the work will
be completed?

A,B ¥ 1.5 o0 Frfay €, gHifen 9
TF FE F YU FAH BY 8 A FA
T 21 A e B uiR 5 = e
& 9o A % &1 Tee fe e #, A
fm fea o 9w & s

(@) 17 (b) 19 (c) 19.5(d) 21
A piece of work was finished by
A, B and C together, A and B to-
gether finished 60% of the work
and B and C together finished
70% of the work. Who among the
three is most efficient?

frdt @ =1 A, B @1 C faeem ¢
FW ¥ A 71 B et w1 #1 60%
few @ FW ¥ 3k B 7w C fAeax
Fr w1 70% T qu ww & e A
@ vl aAfusw FEETe #1987
(a)Only A (b) Only B

(c) OnlyC (d) Aor B

A can complete a work in 20
days and B can complete the
same work in 25 days. If both
of them work together, then
in 3 days what percent of the
total work will be completed ?

ATF w1 & 20 54 # 90 FX 9w

£ o1 B3 w1 =1 25 A § qu v

Herdl B A% g oot 1 *1,
il et s 0 et yfaerg i sg]}
g = ? ,{d I

@9 b 12 (o) 26 (d) 27

Sandy and Ma _‘(;IG (8/13)™®
part of a wor &"the rest of
the work_ wai ?:Qmpleted by
Andy. If A Mandy and Andy
take the,,S rne work for Rs
2600, then what is the share

(in Rs) of Andy ?

et qor #E ww A w1 (8/13) =
9T I Y F € aa1 3w qE F
30 U fRar S €1 Aty §, g s
Fr F 2600 ® H @4 ¢, @ o W=
fewm (w ®) foaw g 2

(a) 1600 (b) 1400

(c) 800 (d) 1000

240.

rmwgo 20/3

} and B do (3/5)* part of a work

237

3
N st

242,

work in 6 days, 6 men can do
same work in 5 days and 8
children can do it in 10 days
what is the ratio of the

efficiency of a woman, a man
and child respectively,

10 wfgend foeht & & 6 Al & @
F Al €, 6 79 34 ®E F 5 Al
gy # "Hd &, a9 8 wed 3 Hd
F1 10 fa= # T F1 wwa 81w U
Afeet, TF YE9 T UF F=4 H LHal

F1 IIH F 87
a) 4:6:3 b)4:5:3
c)2:4:3 (d)4:8:3

A and B can together do a piece
of work in 10 days If A work
with twice of his efficiency and
B works with an efficiency 1/

37 less than his efficiency,

243.

A, B aar C e = =1 w99m; 10, 12
ar 15 fadl & 90 2 wRd ¢ AW A
faars #1d #1 o0 fF g 2 A &
TEE A FH S %1 ¥ 9 B w0 qu
R & 3 A wedt Fd Big @ 21 C I
i F1 el € 9 T 21 H B
W HE | R 57 o gni?

@5 (b 6 ()7 (48
A can do a piece of work in 6
days has working 8 hours a day

while B can do the same work
in 4 days working 10 hours a

day. If the wark has to be
completed %rdays so how
many h “they need to
work to 0%‘\[%1"\‘%.1 a day?

AE@@?*&E}% FH 5% UF 514 71 6
et ¥ qy &, s B st 10

’vw'mwmwmm4fﬂn@
“aﬂmawﬁmaﬁSﬁﬂﬁt@m

then the work gets completedf;

in 6 days. In how many d@q

can A and B do the work alone.

respectively? P

o
A o B oot et ;ﬁloj‘ﬁﬁ
T TFA AR A ,&mﬁﬁaﬁw
w1 #11 & 99 B .\‘&Tﬁn@ﬁ'{@

T T T ?R«‘ﬁﬁﬂiﬁ{ﬂm

Tl FHHIA: &m‘ﬂmmm@
‘qjma‘r@?ﬂm%?

{a]gg‘ (b) 20/3,20

(d) 5v0/3,25

and the rest of the work 1s com-
pleted by C. If A,B and C take
the same work for Rs 5000, then
what is the share of C (in Rs.]
AT B Uw w1 =1 (3/5) & 9 w7
% aw v w1 C % g0 gv fFn s
%1 Al ABam C 39 & &1 5000 &
AT B, @ C o e (% H) #0082
(a) 3000 (b) 2500

(c) 2000 (d) 1500

A, B and C can complete a work
in 10,12 and 15 days respect-
wvely, All of them starts together
but after 2 days A leaves the job
and B left the job 3 days before
the work was completed, C
completed the remaining
work alone, in how many days
was the total work completed?

244,

245.

246.
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adﬁmﬁwuﬁﬁ?ﬁmqﬁ
A HEAT E?
4 4
(5)5— (blﬁ—
4 4
(C)4ﬁ (dl4—

45 men or 60 boys can do a
piece of work in 20 days. How
many days will 15 men and 20
boys take to complete the work?

45 TE9 A 60 TEF TF F4 F 20 A
H 0 %3 €1 15 T8 a9 20 dSH 6
M ® W FA | w7 o
(@) 23 (b)45 (c) 30 (d) 25
2 men or 3 women can complete
a job in 96 days. Then 6 men
and 7 women will complete the
same job in how many days?

2 &N e 3 Higamd u FH 96 faA
H 90 G € d1 6 T8 91 7 Wigemd
T = B e Rl d g D

(&) 18 (b)27 (c) 20 (d) 24

A and B have to type a book to-
gether containing 120 pages. A
takes 9 hrs to type 36 pages
and B takes Shrs to type 40
pages. A typed first 60 pages
alone and the last 60 pages were
typed by A and B together. How
much time (in hours) will be
taken to type the complete book?
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248.

249.

250
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Ada B & fAe@t u& 120 9= aeft 251.A can paint a house in 42 days

o 2r€q F 81 A, 9 W H 36

2T F & 9 B, 5 W2 § 40 TS 2y

F 81 A TS 60 IS IFell ALY FI

& a1 snfer # 60 g2 A a1 B faert

I FW B YA THAe F o9 A A

fram = (@ o) =em?

(a) 24 (b]20 () 12 (d) 15
YEAR: 2015

A can finish a work in 18 days

and B in 36 days. If they work

on it together for 9 days, then
what percent of work is left?

A wF %MW Fi 18 & # @R B 36 A
W 90w gEkar €1 Az g9 fE & few
uF WY FW wA E, a Fean ufiea
FH I qEm?

(a)33.33 (b) 20

()75 (d) 25

A, B and C can finish a job
working alone in 20, 30 and 60
days respectively. They all work
together for 1 day, then A and B
quit. How many days C working
alone will take to finish the re-
maining part of the job?

A, B it C 0% %0 # 373e F: 20,
30 3 60 Al ¥ T WA E1meft A |
fer & fou uw we faas om0 &,
fFT A 3k B 8ig ¢ =t 9@ 21 C

el 19 F4 g e famil # s gan
¥ W gy FHIm?
(@) 60 (b]54 ()6 (d)27

A and B together do a job in 15

252.

253.

erzse

and B can do it in 21 days. Along
with C, they can finish the job in
7 days only. C alone can do the
painting job in how many days?
ATF R F 4 fE& F o w2 wwar &
R B =&l M 21 Al § @ wEa 2
C % =, 32 Faa 7 & A7 w1
1 femm C ol frem fool o ofdn =
F1H G F Gl 87

(a9 (b) 12 (c¢) 14 (d) 15
A can do a work in 12 days and
B in 24 days. If they work on it
together for 4 days, then what
fraction of work is left?

A 12 i ¥ @R B 24 Al @ w7
HGH ) 4 o 4 T o o wy
oL M 34 €, 4l F9 1 [T 9
aHl T ARm?

256.

A, B 3R C &5 6, 9 3R 18 fefi o
el TH wE B F ORI 8 9§
et | fA = oo o =0 €, fFT A 2in
B#M BiE H £ 3dd FF 5% 50 CFH
W G R e e
(a)9 (b6 (c) 12 (d) 10
Raman 1is three times as effi-
cient as Manan. Raman can
complete a work in 60 days less
than Manan. In how many days
the work would be complete if
both of them work together?

T I e T YA T ¥ T T
FH w FH A 360 fe 0 o 21
¥ 9 ﬁﬁﬁﬁ%ﬂ,ﬁﬁ'{ﬂﬁm'ﬂﬁ
A et F B 2
(@5 ) (b)17.5
,,u_«.{.%] (d) 27.5

25§}V§ay and Sahil together can

(a)1/3 (b) 1/2 { ,{3

" d
(c) 1/4 d1/5 ¢ ©)
A can do a work 1in 24 d

B in 40 days. If they, work"clfl it
together for 10 days’ hat
fraction of work is

Awmaﬁﬁf%ﬁaﬁamﬁ?‘l
H T g 2w T T 10
feal 7 imtl FaE d wm o e
a9 ;q% %jﬁn £?
)7 (b) 1/3
(d) 3/4

days and A alone could do t o 254 A can paint a house in 25 days

same job in 20 days. How A4
days would B take to do aif tﬁef
job if he worked alone?

A 3l BUE W9 15 ﬁm{ﬁamm

€ 4R A srel w9 HR 8L 59 20 Tl °
'{Uﬂ?{m%l g 36 A H
ﬁﬁ'—lmaﬁ‘r?

o(c) 45 (d) 40

[al 60 ?,éh

_A and B together do job in 6.75

days and A could do the job in 9
days if he worked alone. How

many days would B take to do
the job if he worked alone ?

A Y B faeit ©F &m 6.75 & § qU
H AR A stel 9t FW 9 A F @
FT UFA 21 A% B 3hen 7€ F19 F
A SR I @ EE ¥ faa i @i
(a) 27 (b) 18 (c) 24 (d) 21

255.

and B can do itin 10 days. Along
with C, they did the job in 6.25
days only. Then in how many
days, C alone can do the job?
A 25 fel ® wm T @ TTer w5 wEar
# it B3t #1 10 o #F T
TFaA g1 C F Wy et 321 6.25
Al & € T W F 9@ FwAm d@ C
s e il o = U = w22
(a) 50 (b)40 (c) 30 (d) 60
A, Band C can do a job working
alone in 6, 9 and 18 days re-
spectively. They all work to-
gether for 1 day, then A and B
quit. How many days C work-
ing alone will take to complete
the remaining of the job?

258.
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complete a piece of work in 40
days, Sahil and Ranjit can
complete the same work in 48
days and Ranjit and Vijay can
complete the same work in 60
days. In how many days can
all the three complete the
same work while working to-
gether?

fas qon wifee e o @1 =1 40
& § qu R whd §, few qen i
et w1 A 48 A A 9o I A €,
e TSt won faem st @ 60 el
H Q@ T Ghd ¢ dl wy ey e
wr # e G F 9w g €7
(@) 16 (b) 24 (c) 32 (d) 38

A and B together can com-
plete a work in 10 days. They
started together but A left after
2 days and the remaining work
was completed by B in 12 days.
In how many days can A com-
plete the entire work while
working alone?

A#n B t# &1 & fAast 10 fa §
T HT GFA B F UH WY AN FA
T2 el # ag Awd sig 3w €
dun ¥w wM ad Bgw 12 fAl A
qu ferar st &1 wegel w1 w5 sl
Fd w1 g A fee = & qm =
Tl €7

(a) 15 (b)20 (c) 30 (d) 45

|" 919
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262.

A and B together can complete
a work in 30 day. They started
together but after 6 days A left
the work and the work is
completed by B after 36 more
days. A alone can complete
the entire work in how many
days?

Ao Bus %9 & Aot 30 @ o
T F WS 21 A UF W™ FH HE
ARH F € g 6 e F 9w A =
Big a1 € a1 9 FF B gR [0
H 36 o &R @ 1A sthen Ol
= = fr i F qu W wwa 22
(a) 45(b) 90 (c) 60 (d) 120
A, B and C together can com-
plete a work in 20 days. A and
B together can complete the
same work in 30 days. Then
C alone can complete the
same work in how many
days?

A, Baw C oot fodt w1 =1 20
feaf & qu w gFd 21 A G B vt
FE F1 30 G F W H FRd §1C
oThen 39 F1d H fFw & A o
Tl 7

(a) 10 (b) 30 (c) 45 (d) 60
Vijay is 10% more efficient
than Vikas. If Vikas can com-
plete a piece of work in 33
days, then Vijay can complete
the same work in how many
days?

fawm, o & 10% 1faF FEwm
21 afz fawm wF =1 F 33 ﬁﬁﬁy
Tl ¢, qf faom S e W R
Al | qu W w82 “"”\m‘
()25 () 27 (c) aC d) 36
P.QO and R toge aﬁ ?:In com-
plete a work 1 40 ays. P and
Q together can,}complete the
same wofk™ in., 90 days. Then
R alone éan complete the
same work in how many
days?

P,Q @er R fawsr frdt =rl =1 40
el & qu T gHd @1 Pan Q vt
w1 F 90 Al # @ w THES T R
sraen 39 14w fFa A F g e
a1 &7

(a)40 (b) 72
(c) 84 (d) 90
920 ||
info@spardha.guru

263.A alone can complete the work

in 10 days , B alone can do
same work in 12 days and C
alone can do the same work 15
days. They jointly complete the
work and earn Rs 4500. What
is the share of c ?

Asten fegt = =1 10 T & 0@ w=
TFar £, B atden =6t & &1 12 R o
T F Gl & a1 C aren 56 HHA
# 15 & qU = gwa €1 T T
WY FE K T KW T A 4500 ®
FUW ¢ C w1 fewm ®noEm?

(a) 1800 (b) 900

(c) 1200 (d)1500

264.Ram is five times as efficient

as Rohit. Ram can complete a
work in 60 days less than

Rohit. If both of them work to- |
gether then in how many davgff
the work would be compl Ed?; ?,3

St

T el Afed A 9 T
wE W A H Ufea | ﬁqm«“‘m
£ afz g facs 39 “cﬁm‘iif%,%ﬁ
a’a'mmqﬁqﬁgrfﬁn

(a) 10 ffc;) 12.5
(€15 <y (d)20

265.A %‘%d u.together can com-

ple‘tb aﬂ‘%ﬁork in 20 days they
starfed together but after 4
?jl ays A left the work the re-
"'rnaLmng work was completed

?-

by B alone in 24 more days.
In how many days can A com-
plete the entire work alone?
A9 Bus 5 =t faese 20 B9 &
T H TE B A UF WY FE HE
AT FW T WA 4 A & 9w A e
B a1 € I B smhen 24 wfafen
el & gu e €1 A e w5 &
aden frad Bl qu #T wwar 22

(a) 75 (b) 25 (c) 45 (d) 60

266.A, B and C can do a piece of

work in 20,24 and 30 days re-
spectively. All three of them
began the work together but B
left 3 days before completion of
the work, in how many days
was the work completed?

Copyright © All Rights Reserved | https://spardha.guru/

A, BT C UF F1 &1 FHIU:20 24
aen 30 feAl # [ & wHd §) d= A
W] F WA B ¥ 3 &7 @ B @
BrEwT F Sa # 1w e fw o
T T B2

@7 (b 0 (c)12 (d)9

267.24 women can complete a work

mn 45 days. If 18 women are em-
ployed, then in how many days
the work would be completed?

24 HfeeE T w45 foR § g
T 2,7 é:%%wm =i frega

amkz%fzﬁ* T el o q@

[a] 60 ;ré] 70 (c) 85 (d) 75

268}A aﬁ”d B undertook a work Rs

“2200. A alone can do the work
in 10 days and B alone can do
the work in 12 days. If they work
together, then what will be the
difference (in Rs) in the amount
they receive?

AdaT B ¥ WH ®W F 2200 & H
YA 1 S Terdn | A avhen SH A
=i 10 &7 A a1 B s1@hen 39 w1 H
12 fedi § # w21 A% 24
Y FwE HE, q A & Ao arelt
wfer =1 AW (® H) F1 w7

(a) 350 (b) 250

(c) 200 (d) 300

269.A and B together can complete

a work in 15 days. They started
together but after S days A left
the work, If the remaining
work is completed by B in 15
more days, then A alone can
complete the entire work in
how many days?

A7en BUs & =1 faeest 15 feai o
W FHd T F TH A FE B
i F § 9Xg 5 T # 9w A we
1 Be # # % T FF g0 A E
B 1 15 fai &K o, @1 A sfehen 3
7 = Fr A

(a) 25 (b} S0 (c) 35 (d) 45
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270. A carpenter can build a cup-
board in 60 hours. After 15
hours he takes a break. What
fraction of the cupboard is yet
to be built?

TF a¢s TF SOl 1 60 wHE H Fmar
1 15 %2 9% =97 fauw o 2 e
W1 T | aft off S AT §2
(a)0.5 (b) 0.9

()0.75 (d) 0.25

A labourer can do a job in 50

hours. After 5 hours he takes
a break. What fraction of the job

is yet to be done?

TF UG UF FW 50 5 H FI §1 5
o2 9% 9% oM o €1 w1 F1 R
am ereft off FEr AT 22

(a)0.8 (b) 0.5

(c)0.75 (d) 0.9

Prabhat has done 1/2 of a job
in 12 days. Santosh completes
the rest of the job in 6 days. In
how many days can they to-
gether do the job?

gaE 7 12 feq f uw Fm w1 1/2 9

271.

272.

277

275,

276.

(a) 200 days  (b) 50 days

(c) 100 days  (d) 125 days
Amar is 2 times as good a work-
man as Badal and therefore is
able to finish a job in 15 days
less than Badal. In how many
days can they together complete
the job?

o, wTee | 2 A sl HdEd § iR
™ w98 U w5 sud 15 & w
¥ 90 F GEa 2| G e T8 w1
e 7 & o0 w7t @ 7

(a) 30 days (b) 40 days

(c) 10 days (d) 20 days
Dadiji can bake 30 cakes in 6
hours, Dadiji and Kakiji together
can bake 150 cakes in 15 hours.
How many cakes Kakiji can

bake in 25 hours?
TE 6 HE H 30 ®F A Tl €,
TSR @ FrSh e frem 15 2
150 FF a1 ahdl B1 FTHISA 25 aén
fﬁqiﬁmwm%f
(a) 10 (b) 200
(c) 125 (d) 30

1
& s ¥

é;f

v

.Mehandi can comp te a,jvork

in 25 hours. If h yled by

Jahnavi who 1& “50% more

T_U T m\\%' EEﬂ'E[ =1 g3 FM 6 f3A efficient, In W’I{ ime will they

T 0 A €1 A et 98w fead together Quh_g.t e work?

el & qu e v 2 T T R 25 WA W

(a) 12 days (b) 4 days Wf??ﬁ Tt et 3 T #,

(c) 8 days (d) 16 days ?m% sAfaer frqo 2, d forem W
273. Pradeep has done 1/4® of a job I FT e g T o

in 14 days, Saquib completes % {,}‘a] 12 hrs (b) 10 hrs

the rest of the job in 56 days.~, (c) 3 hrs (d) 9 hrs

In how many days can they\-)7g A painter can paint a fence in

together complete the job?. .
9E9 J 14 9 § wF = ’{}W
T T fepn €, Wt == _gen wmm s6
fem & T Fw 21 gL % FW
fort & % 0 A ﬁ?ﬁ’ 22

(a)64 days . ~(b)'32 days

(c) 16 days™ > “‘}[d] 8 days

A does 75% of a work in 50 days.
he then calls in B and they to-
gether finish the remaining
work in 10 days. How long B
alone would take to complete
the whole work?

A TF HW & 75%, 50 fi1 § gu Far
& fire ol B ger § @it 3 SHi e
= g &M 10 & § g s @ g
w1 2TFel F ° B e w9 wom?

271
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279.

24 hours. After 6 hours he
takes a break. What fraction of

the fence 1s yet to be painted?
TF Tl U A% F 24 = F O 2
6 52 a1% 78 fawm ol #1 a1 ® fHa
qPT A S e €7

(b) 0.6 (b) 0.2
(c) 0.75 (d) 0.8
A can do a work in 16 days and

B in 20 days. If they work on it
together for 8 days, then what
fraction of work is left?

AT F 16 51 F @r B 20 g9 &
F1 81 A 3 S 8 & Wi et 9
Fi, @ FH 1 fRaT 9 A 8 S
(a)1/3 (b)1/6
(c)2/9 (d)1/10

280.

281.

A does 75% of a work in 25 days.
He then calls in B and they to-
gether finish the remaining
work in 5 days. How long B
alone would take to do the
whole work?

ATE F FH 75% , 25 faa e & fe
€ B %I 9ol ¥ 3R & < e a=n
ol &M 5 A H gu e W wm w e
¥ et B & fean g ey

(a) 50 days (b) 80 days

(c) 24 days (d) 37.5 days

A mason can build a wall in 70
hours. After 7 hours he takes
a break. Whet7fraction of the
wall is yef’,;to \bg” built?
WWWWH?{JH&#W%

s,

7ﬂ$aﬁ\ﬂémém%|ﬁanam

r_wmm%mﬁr?ﬂmamg?

M*(a 06

283.

284.
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(b)0.8

)0.5 (d)0.75

don 82 Azharis 4 times as good a work-

man as Balaraj and therefore
is able to finish a job in 45 days
less than Balaraj. Working to-
gether, they can do it in:

SR FoS | 4 T sifuE st FHEr
g 3R T FO A TH FW I 45
il &0 # qU # g & <A i
foet g +m e faa F =92

(a) 6 days (b) 18 days

(c) 24 days (d) 12 days
Parimal has done 1/4th of a job
in 10 days, Salim completes
the rest of the job in 20 days.
In how many days can they to-
gether do the job?

afiger 7 10 53 & w= @ #1 1/4 am
T L fern #) Heltw 5= g3 wm 20
a7 § qu @ € S e 98w
fopme Tt & g w2 w27

(a) 8 days (b) 24 days

(c) 12 days (d) 16 days
Painter 'A’ can paint a house
in 10 days and 'B' can do it in
20 days. With help of 'C', they
did the job in 5 days only. Then,
'C' alone can do the job in:
et A w10 fe 1 @ wha § a
'B' 20 f&A # # ga1 €1 'C' # e
W, 58 whad 5 € 157 | gg %M = e
A 'C' aTEel TE FHH HL A B

(a) 20 days (b) 10 days
(c) 40 days (d) SO days
| 921
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Akka can bake 100 cakes in 20
hours, Akka and Tai together
can bake 75 cakes in 10 hours.
How many cakes Tai can bake
in 20 hours?

SR 20 B2 W 100 FF I GHEA T,
k1 AR A @y frert 10 w5 ¥ 75
F o Tl €1 A 20 W H R Fh
T T 87

(a) 25 (b) 50 (c) 30 (d) 75
Prahlad has done 1/3 rd of job in
30 days, Sarfaraz completes the
rest of job in 90 days. In how many
days can they together do the job?
Teas 4 30 59 ¥ U & &1 1/3 9
T T o 1 GTETS A g wm
90 &9 ¥y *@l 21 I faw g®
= foad o o qu = e €2
(a)27 days (b) 18 days

(c) 54 days (d) 36 days

A does 80% of a work in 20 days.
He then calls in B and they to-
gether finish the remaining
work in 3 days. How long B
alone would take to do the
whole work?

A TF FH 1 80% 20 A § w1 2
fiFT o8 B %1 goidl € 991 3 SA ferht
a1 geon %W 3 A F 5@ ww € W wm
#Tael w1 § B # o v wEm?
(a) 75 days (b) 37.5 days

(c) 17.5 days  (d) 35 days

A mason can build a wall in 18__

290.

291

292.

293.

A carpenter can build a cup-
board in 48 hours. He takes a
break in 12 hours. What fraction
of the cupboard is yet to be built?
T 983 UF HUaie &l 48 = ¥ Far
1 12 12 == A T o 21 Fuard w5
feel ST 9 27

(a) 0.4 (b) 0.5

(c) 0.75 (d) 0.25

P and Q can do a project in 60
and 30 days respectively. In how
many days can they complete
90% of the project if they work
together?

P 3t Q ®uw: 60 3iR 30 fAi  w
ofiEi=Al L Hhd £ A% & U 'Y
wi q feaa el § 3 ufismm #1 90%

T GFA €2
(a) 9 days (b) 27 days
[c) 36 days (d) 18 days

A labourer can do a job in 36

296.

hours he takes a break in Qf?

hours, What fraction of thﬁjgb
is yet to be done?

TH TSI TF FH 36 UL H FI

52 AR oF fo war 21° a;m fam'r
am st s W 2 /3,0 )

(a) 0.5 (k) 0:25

() 0.75 f?oé 0.2

A can dc»-&-w in 20 days and
B in 50 qus If they work on it

to é.r;;fm 5 days, then what
f;&cﬁgﬁ of work 1s left?

r\AMW 20 feA & @i B 50 fem &
C (A #1 4% 3 & 5 e e firert &m0

hours. After 9 hours he ta%éﬁ J

a break. What fraction_ Oﬁﬂbhg}

wall is yet to be built? <’
wF foedt s der & IS,ﬁﬂﬁ*ﬂﬂT%\l
o 52 AR” aF Fr FRIE dan #
(ETEIRC L) &

(a)0.9 \(B10.25

(€)0.5 /™ otd) 0.2

Mother can bake 20 cakes in 4
hours, Mother and Dadima to-
gether can bake 60 cakes in 10

hours. How many cakes
Dadima can bake in 30 hours?

o 4 W H 20 FF I Twdl €, TEE
AR | e e 10 92 H 60 FF 0
gadt 81 2@ 20 92§ faam % 5
et 27

(a) 30 (b) 75

(c) 60 (d) 25

294,

295.

w1, T 1 FH AT A A © SEm?
(a) 13/20 (b)1/3

c)1/6 (d)2/9

A does 75% of a work in 45 days
then he calls in B and they to-
gether finish the remaining work
mn 5 days. How long B alone would
take to do the whole work ?

ATF FW F 75% 45 a1 § =t 2
o 98 B =1 gerdl & 9o 3 S faerdt
=1 gu FW 5§ qu e #1mm wm
w0 A sThat B @ faam wwa aeme

(a) 15 days (b) 45 days

(c) 60 days (d) 30 days

A does 80% of a work 1n 20 days.
He then calls in B and they to-
gether finish the remaining
work in 4 days. How long B
alone would take to do the
whole work?

A TH FW F 80%, 20 oA | w7
ffit 5% B # o & qen d A
foerrT o= gaT w4 57 H 30
2 g W FA § wFd B H fwaw
g

(a) 12.5 days (b) 100 days
(c)22.5 days (d) 35 days

A, B and C can do a job working
alone in 50, 75 and 20 days re-
spectively. They all work to-
gether for 4 days, then C quits.

How many days will A and B take
to finish the reét of the job?

h
A, B @1 Ciql wi it g fohell M
1 % 50, 752 20 i 6 gu = o

%lgwwvﬁq@mmm%a?ﬁ

¥ B 9= gL HE H AT
Bﬁ%ﬂ?ﬁg@aﬂéﬁf

\@ 20 (b) 30
(c) 18 (d) 24
Aég'? A and B can together complete

298.
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a task in 18 hours. After 6
hours A leaves. B takes 36
hours to fimish rest of the task.
How many hours would A have
taken to do the task if he
worked alone?

Aden B fordt @ =i 18 5 & g0 &
o &1 6 2 9E A F19 BIE & € 59
U HH F [ F % fauB 36 =2
21 afs A orhel 8 F € A 59 T
FM H FE A fHaA = T2

(a) 54 (b) 45

(c)21 (d) 27

A, B and C together can tinish
a task in 7.5 days. C is thrice
as productive as A and B alone
can do the task in 15 days. In
how many days can A and C do
the job if B goes on leave?

A, Baen C f&dt =M =1 s @Y
et 7.5 fami & #C Wt €1 C
IAEA &wa A # T € st B
Hhell 56 FH HI 15 BT o F Fhal
#1 9ft B wedl W won o #1 A

3R C et 39 T & had A ®
7

(a] 30 (b) 10

(c) 20 (d) 15
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A, B and C can do job in 9, 12
and 36 days respectively if they
worked alone. A leaves after
they have worked together for

3 days. In how many days can
B and C do the rest of the job?

g A, B 3R C fFd &1 1 amd
#4217l 9 34 HEv: 9, 12 R 36
fadi ¥ wd B1 99 2 o% 29 T
FH FH P 9 A Tl 96 8 99 8

™ i Bagr C faos &A1 § e o7
(a)3 (b) 4
(c)5 (d) 6

A 1s thrice as productive as C.
Together they can complete a
job in 22.5 days. If B joins them
after they have worked for 15
days then in how many days
can they finish the rest of the
job if B alone can do the job in
15 days?

A # A amar C ¥ fapd &1 A
faeere frelt @ =1 22.5 & # =¢
TEd 21 A 3 A B 15 & wm w
% 9% B i 3 WY §g W € @ 3
9 T FE HI R w9 o o 3 B
el T8 &M 1 15 A § w= o 87
(a)6 (b) 3

(c)9 (d) 2

If A, Band C can do a job work-
ing alone in 12, 18 and 36 days

303

304.

?-

U/

respectively. They all work ta- ’;

gether for 2 days, then B g_ur.{:\s «j

How many days will a.nci c
take to finish rest oﬁhe Job'-’

A, B men C foet WERHTT: 12,
18 311 36 &7 4§ %lémﬂz
ﬁnaa:u:gnezmm%mms

R 0w F Ty

A 7 C wi-fFHan 999 wrm?

(a)9 (b) 6

(c)3 (d) 4

If A, B and C together do a job
in 4 days, A and C together do
the job in 4.5 days and B and C
together do the job in 12 days
then in how many days can C

alone do the job?

305.

g A, B3R C et #m w1 4 fem
F E, A C TF |9 39 W #1 4.5
fed d = € 991 B 2ir C et 38
F1 12 fdi 7 3 € o C s1@en 39 &9
w1 fore B ¥ = wwW 57

(a) 36 (b) 6

(c) 18 (d) 12

.Working alone A can do the

task m 27 hours and B can do
it in 54 hours. Find C's share
in Rs) if A, B and C get paid Rs
4,320 for completing a task in
12 hours on which they worked
together?

AF S HT F gL AT W W FH H
T S A1 B 3 BIH 54 6§ FH
THdl Bl C % IR I 9 T (&
H) afg A, BHR C i 12 %2 § ©h

WRiTTWE%i‘UaHZOEWf;

306.

?:««*l

©2/3

B UF 1 [ S & 0 A o
¥ 10 T2 A T9T TG, 3FR ITH
Wik A Hehel-3hel T Tahal BT U
WY % T gL A 3H HE H 12 HS
H qU FX HEd ©1 BE 39 HMW
50% FH F o fe w2 w2
(b) 15

(d) 10

(a] 30
(c) 20
A can do a work in 21 days and
B in 42 days. If they work on it

together for 7 s, then what
fraction 0&@)51’; left?

Afreht Fa 2}1 T % TRl & AR B
aﬁﬂgﬁ#ﬁﬁmﬁ o 3 7 A v
mmﬁ}m & 1 fep fe aemm?

/3 (b) 1/4
d1/2

LUGEREEE % IEER ﬁ?m ‘%307 A, B, and C together can finish

wTH o o

O
(a) 1440 (b) D
(c) 1920 (dzg )

Working togefher K B and C
can compl a%k in 12 days.
A and Byranjﬁ; the task in 55
day@g~ ti 66 days respectively
if ti_\_eyz “worked alone. In how
ﬁgﬁjf days can C do the task if
ﬁé* worked alone?

A1y H wH F g A, B 3w C 12 fesi
ﬁ T T W A FEd 2 AR F
FHA-HFA FH FE €, A A AR B
FH: 55 Teril 37 66 il # 7@ @ |
HT FHA 81 97K 95 FH FHe C Hl
%, d1 36 %W w1 98 fred ol §
T WAl B2

(a) 22 (b) 44
(c) 20 (d) 40
B would have taken 10 hours

more than what A would have
taken to complete a task if
each of them worked alone.
Working together they can
complete the task in 12 hours.
How many hours would B take
to do 50% of the task?

308.
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a task in 12 days. A is twice as
productive as B and C alone can
do the task in 36 days. In how
many days can A and B do the
task if C goes on leave?

A, B @R C frdt =@ # u% |9 12
A TR BHR oM A A
T AE IEET I § SR C shen
= wW F 36 B § = 9w 71 Ak
Cgzdl W wel S € W@ A 3l B
frert 59 = 7 faa i3 d e
(a) 10 (b) 20

(c) 15 (d 18

A, B and C can together do a job
in 9 days. C alone can do the
job in 36 days. In how many
days can A and B do 50% ofthe
job working together?

A, B 7en C st =@ #1 9 & o qu
F o T C el T FW H 36 A
H F o 21 A R B UF WY M S
g0 50% =M fher fo i § = <2
(a) 6 (b) 12

(c)9 d 15
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309. A is thrice as good a workman

as B. C alone takes 48 days to
paint a house. All three A,.B andC
working together take 16 days to
paint the house. It will take how
many days for B alone to paint
the house?

A, B Ft e 8§ & T o8t FHR 2
C s@d UF o &l e & & fau 48
fedl &1 W9 o ¥ UF WY W F
TLA,B 3R C il 39 WAl T w3 |
16 f& ormd €1 39 R H de w W B

310.C is 5 times as productive as B. 311.A can complete 50% of a job

A takes 60 days to complete a
task. If A, B and C work together
they can complete the task in
12 days. In how many days can
B complete the task if he
worked alone?

C,B g § 5 T e €1 A
w90 FE ° 60 fe w # oA
ABRCT Q9 59 $W & a1 o
12 el # @ @ g0 gEd &) sEd
#H Fid g B frad faal d @ &0 @

in 9 days and B can complete
25% of the job in 9 days if
they worked alone. If they
worked together how much of
the job (in %) can they
complete in 9 days?

A9 f&d & 50% #M g FX Twar § 3R
B9 f&i § 39 &M #1 25% W
THA 2, AfE F ARo-aTd T FW S
aft 3 TF WY FW FW & @1 9 e H

foru, s B w e R wi? A 67 et (o) T T 2
(a)32 (b) 64 (a) 18 (b) 27 (a) 80 {b) 90

(c) 96 (d) 72 (c) 90 (d) 72 (c) 75 } ma‘ 100

»\\' L"é
; p| NV
q%u ANSWER KEY g N
A0
1. (o) 32. (o) 63. () 94. (a) 125.(c) 156. (d) 218.(d) 249.(h) 280. (a)
2. (a 33. () 64. (c) 95. (c) 126.(d) 157. (a) 219.(d) 250.(a) 281.(a)
3. (¢ 24. (a) 65. (b) 96. (a) 127.(b) 158.(c) 220.(a) 251.(9 282.(d)
4. (g 35. (o 66. (b) 97. (d) 128.(b) 159%h)., j 221.(c) 252.(h) 283.(d)
5. (¢ 36. (d) 67. (a) 98. (a) 129.(a) 19&% \F 222 .(c) 253.() 284. (a)
6. (o) 37. (d) 68. (b) 99. (d) 130.(b) 16135.7’*’2 223.(c] 254.(a) 285.(b)
7. (o 38. (a) 69. (b) 100.(c) ﬂ{' 1362. (d) 224.(d) 255.(c) 286.(c)
8. (d) 39. (d) 70. (b) 101.(b) : {:1»63 @) 225.(c) 256. (o) 287.(b)
9. M 40. (@) 71. (c) 102.(b) “j 164. (d) - 226. (a) 257.(c) 288.(c)
10. (b) 41. (o) 72. (a) 103.(b) ] 165. (a) : 227.(b) 258. (c) el
11, (d) 42. (a) 73. (a) 104.(b) 7138 166. (d) 197.(c) 228.(d) 259. (b 290.(c)
12. (d) 43. (d) 74. (d) 105.(c) @é 167.(b) 198.(d) 229.(a 260.(d) 2elild)
13. (a) 44. (g 75. (c) 106. (d}( N 137.(a) 168. (d) 199.(a) 230.(c) 261. () 29740
14. (b) 45. (o) 76. (c) 107 ' 138.(b) 169. (b) 200. (b) 231.(a 262.(h) gzi'{z}
15. (a) 46. (d) 77. (d) 108. 139.(c) 170. (b) 201.(b) 232.(c] 263.(c) 295'“
16. (¢ 47. (d) 78. (<) ~109.(c) 140.(d) 171.(c) 202.(d) 233.(d) 264.(h) 296'{(2;
17. (a) 48. (o 79. (c) ,)ﬂ\ 110.(c) 141.(c) 172.(d) 203.(d) 234.(a) 265.(d) 297'{d}
18. (b) 49. (a) 80, (;u; 111.(a) 142.(b) 173.(b) 204.(c] 235. (b 266.(d) 298'{51}
19. (c) 50. (b) 814} 112.() 143.(c) 174. (b) 205.(b) 236.(c| 267.(a) 299@
20. (c 51. (b fa ‘.\{a} 113.(c) 144.(c) 175.(d) 206.(a) 237.(d) 268.(c) 300'@
21. (a) 52. (b) |{83.%9 114.(b) 145.(b) 176. (b) 207.(c) 238.(d) 269.(d) 301'{b}
22. (b) 53. (d ﬂxjm. (c) 115.(c) 146.(d) 177.(a) 208.(c) 239.(d) 270. (¢ 302:{0}
23. (c) 54%#85. (a) 116.(a) 147.(a) 178.(b) 209.(d) 240.(a) 271.(d) 303. (a)
24. (c) 55/ Mb) 86. (a) 117.(d) 148.(b) 179. (b) 210.(d) 241.(c) 272.(¢) 304. (c)
25. (a) /)6 87. () 118.(c) 149.(c) 180. (d) 211.(a) 242.(c] 273.(H) 305. (b)
26. (a) é}) 88. (c) 119.(d) 150.(c) 181.(a) 212.(c) 243.(d) 274. (q) 306. (d)
27. (a) (d) 89. () 120.(b) 151.(c) 182.(d) 213.(d) 244 (c| 275.(c) 307.(d)
28. () . (d) 90. (c 121.(d) 152.(a) 183.(b) 214.(b) 245.(a 276.(c) 308. (a)
29. (a) . (a) 91. (b) 122.(c) 153.(c) 184.(c) 215.(c) 246.(b) 277.(b) 300. (c)
30. (d) 61. (a) 92. (a) 123.(b) 154.(c) 185.(c) 216.(c) 247.(d) 278.(c) 310.(c)
31. (b) 62. (b 93. (b) 124.(b) 155.(c) 186. (a) 217.(a) 248.(b] 279.(d) 311.(c)
924 ”
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